20238 =0ila LERIH A2 S ~ EAZEdSSER ddssa
SH: CARBMSIEER AYCAB
M ZRC NP 29
CHol: HFARC AR 222 (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CAZEYsEER NEA2 6,331,386 5,533,458 797,928
= 46,384
== 41,592
Al 6,243,410
SSEAMS 2E 5,032,317 4,112,109 920,208
= 18,400
Al 5,013,917
AN A2 22 3,703,307 2,692,328 1,010,979
=S 18,400
Al 3,684,907
SEM2 54 227,490 226,849 641
201 et 3| 15,550 15,100 450
01 AtR2tc|bI 1,800 1,800 0
Cl=Et 70,0002 * 10K 700
OXN2EAMZ 2SM=L/HEY dultzd
NES 10,000& 50 500
OX2 A& HIHHEIZ NS AT E 0
ol A (H2H) 2 300,000 ~2H 600
02 s3=gHl 600 0 600
OX2Z A2 O JIXHH =Al2el
600,000 600
03 Ar=EHI 13,150 13,300 A150
OX0bts 2= & 54
450,000 +40H 2= 1,800
OX0pte SEZZ
500,000 *6IH A 3,000
OUEY Ald&ds & 23y 2
500,000 <22 1,000
OX2 A2 IA HAESA AtASt L 2
g 500,000& 42| 2,000
OX2 A 2EAUS
500,000 x3E *23] 3,000
OdHE 2ENAIS
150,000& 102/ *90% 1,350
OX2ENE 2EEIt AA=E
100,000 x5 & »23] 1,000
206 MH=H| 2,500 2,500
01 M=4l 2,500 2,500
oLl S5 A2EMS SNEH2IES
5002 +1,0002 *57H A 2,500
301 22N = 960 960
11 dALREIXIE S 960 960
OX2= A2 AKX SAHA SAHI
8,0002 30 *43] 960
307 elztol & 98,640 98,649 A9
02 2IZHBYAIAE & 98,640 98,649 VaN®




SN SNBHASSRR ABEHR
M ZRC NP 29
Chel: EFAYTARO B2l2Y (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXF2T M2 AtdHl X1 (AS2)
3,880,000 *57H 2 19,400
OXSTHT AMH XA ([BS)
2,910,000 * 1704 2 49,470
o2 N2 BT ]#2HH XY
970,000 x6IH A 5,820
OX2ENE SASOIXNZE XA
870,000 374 A 2,610
OX2EAE HEHAIY 5,820
OviE AME S
120,000 501 2 +4 3] 2,400
OBIE| AZE ALY
684,002 57 2 3,420
OXST A HEE| HAXR
15,520,000 15,520
402 2I2FXH=201& 108,640 108,640
01 2IIXHZ AN 2 (R THE) 108,640 108,640
ORSEHZ TA L AIINIEH
3,880,000 «287H 2~ 108,640
405 AHaHE = 1,200 1,000 200
01 T ESF SHI 1,200 1,000 200
A2CM2 FAEEY
600,000 *2H 1,200
A2 A2 THl XA 61,334 68,525 AT, 191
s 18,400
Al 42,934
201 et 3| 2,800 0 2,800
S 840
Al 1,960
01 At2t2lt] 2,800 0 2,800
OX2EA2 TA7Y EIIUN K& 013
= 2,800,000 2,800
= 840
Al 1,960
405 KHoHFSH| 58,534 68,525 N\9,991
=S 17,560
Al 40,974
02 =A=EhI 58,534 68,525 29,991
OX2ZA2 AT U K&
58,534,000 58,534
== 17,560
Al 40,974
A2 SEgdat 91,430 84,930 6,500
201 Ler=23 | 51,030 39,930 11,100
01 At2teltl 24,480 24,480 0




2A:

SAHRIMSERE A

=

o
H
il

A

M ZRC NP 29
el BEARCAO Hol2d (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O MNM2E S0 HZ
70,0003 #1402~ 930
ONIEHRS 2
100,000 * 10 *83| 8,000
OZAN& EE22Z HE
20,0002 19004 3,800
OSHIE RSB T
100,000 *204 2,000
O Mzt AAKX ME 4,000&*1,900% 7,600
O AME AAMX N2 (HSI})
300,000&*7H 2,100
02 2224l 12,000 2,000 10,000
OF= M= Al 293 &3ldl
2,000,000& 2,000
OZEHHE ERHHYI 5,000 *2,00024 10,000
03 A2 I 14,550 13,450 1,100
OHFAl NATHT FHESS 5,350
OrMERS ERIELY
500,000 *10H 5,000
OYHMEEZ| S8 70,000 *5I4 350
OXHOI0ICIN HAHE UHa =& 9,200
OHEE 2AteE 200,000& *8E! 23 3,200
Ogg &3l 500,000 +8E! 4,000
Oeldgol&E JH=l 1,500,000& 1,500
O & 2IE ME 500,000& 500
203 HRF=&lY| 5,000 5,000
03 A FAIH R FAIH| 5,000 5,000
oM 28 IR2FX 5,000,000& 5,000
207 AR 30,000 40,000 A10,000
02 HADNEY| 30,000 0 30,000
OUItHH 3Rt AAE 2=
6,000,000& 6,000
O3"32 HAAIAHE 2=
20,000,000 20,000
OXHHE AIAE 2= 4,000,000& 4,000
301 LetENZ 5,400 5,400
11 HAAHIXIE S 600 600
OFHOI0ICIO dlixHE Usl =& 600
OXEAS AR AlH| 20,0003 x5 *23| 200
OXHASAR & HALE AR 2 S|
8,000 x50H 400
14 J|Et2 &3 4,800 0 4,800
OFHMOIOICIN HAHE Sl =& A2 2
=43 600,000 +8E! 4,800
ASHI AEIA 237,140 216,510 20,630




SN CHBIUBSER AYTAR

Hu: ZTTHP 2Y

Chel: EFAYTARO B2l2Y (chol @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 220,500 199,870 20,630
01 At2teltl 2,500 2,300 200
OHSUI MHIA HAISE(2EHES)
100, 00024 %257 4 2,500
® 222 218,000 197,570 20,430
OMBUZ AHIA S22
8,720,000 *250H 2~ 218,000
301 2eEN= 16,640 16,640
14 JIEt2 8= 16,640 16,640
OdSUX H2EA2 THEASAHL 234
20,0003 x4 E +208 16,640
BFSAUH 187,200 12,800 174,400
201 er23| 182,400 8,000 174,400
01 AtR2t2|HI 2,500 0 2,500
OSNSAIZIDIXIE R D& 50,0002 %5021 2,500
03 A2 Y| 179,900 8,000 171,900
0223 HESHUE 2
179,900,000& 179,900
301 EtE NS 4,800 4,800 0
11 dAMEEIXIE S 2,800 0 2,800
OXHESALAH &I 20,0002 %100 2,000
OXESAAL & HAIEA X SEH|
8,000& 100 800
14 0Bt 2as 2,000 4,800 22,800
OAEl B2 =43 200,000 %10 2,000
CA2 AERXI2e 1,004,822 344,497 660,325
201 Ler23 | 315,314 223,738 91,576
2 35244l 315,314 223,738 91,576
OA&EHIs Xl 315,314
Od==2 SNES(ANSBZMZ S 14HA) 98,626
“ANEENZH(ZAIZAL
5,020&+1,873m’ 9,403
-RQESFT A 2,481 +8,338m 20,687
SRR Ry 3,230 +2,681m* 8,660
“HATAMZ 3,861&*2,623m’ 10,128
—QEZAMS 2,4813+1,781m* 4,419
SHEAMS 1,320& *4,052m* 5,386
U= A2 1,3202 +1,628m* 2,164
-QETNS 2,481&»2,752m’ 6,828
“NE A2 3,230 x2,692m’ 8,696
-SHTANZ 3,230 *2,480m* 8,011
ESEAMS 3,230 x990m’ 3,198
-ZUHEA 2 2,481&+1,140m* 2,829




SN SNBHASSRR ABEHR
B ZRCND 29
Eel: FFAETM2S 222 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- A 5,020 x666m 3,344
-2 A2 1,329 %3, 666M 4,873
OIJIAHANE X2 96,200
“AAES HEHED] A
110,000 »550CH 60,500
-Ad 2 S+ B2 £
650,0003 * 1404 A 9,100
-S| RAEF 400,000 * 140K 2= 5,600
-3J|X% & BER(HIALKLIE S 53)
1 SO0,000%*MJH* 21,000
OFINNE FAE=(+=HELH S 55)
1,800,000 * 140K 2~ 25,200
OALAE SANE+(NSSAHERD| S 4
) 1,000,000 * 140K 2= 14,000
O=AM2t ZZ2el
2,258,000 * 1271 2:+33] 81,288
206 MH=H| 17,508 16,059 1,449
01 MHZH| 17,508 16,059 1,449
OAF & ZINM(UZIIRE S 55)
20,0003 *55* 1400 2 1,400
O&JIINE 2eE83 6,100
O8I & &I
15,0002 *70H 1,050
O==tH&EEt HDIF & LEtALIX]
25,0002 *70H 1,750
OLeD 31+ & 8= 66,0002 *50H 3,300
OJIAHLHl 2elEqS 3,700
Oz g =827 5 118
20,0002 *70H 1,400
Ode)| 24N S 165
20,0002 *70H 1,400
OoAs& e8== 30,0002 6 IH*5IH A 900
Ox~YAE 22IES 5,600
O4zD| & A3td HHIF
50,0003 %44 * 1404 2 2,800
ORES 50,0003 *4JH*140H 2 2,800
OHIMEXI| HZ(IR)
1,770 2002 E1+2CH 708
401 AIEHIZ SR OHYI 672,000 104,700 567,300
01 Al&HI 662,000 104,700 557,300
OZUT A2 2/ E=3At
100,000,000 100,000
OBATHB Y B4TA
50,000,000 50,000
OES NI 2T S HIY LSA
17,000,000& 17,000
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D SABREASIEER A

=

D ZEENT 2

D BFAEEAZ 2

o
H
il

[0

C . GR(B) - HIRMY - BES Ol &4 A
O=A2 FIEHl FIIZA
821,000& +67H 2~ 4,926
O A2 JIALHl FIIZ A
106,000 *20H 2~ 212
OZHE 52
159,000 26CH 4,134
OANEEANZ AR =2 21,969
OsZ)| etz |t == 4,770
JIE A 265,000& »2CH 32 1,590
—2Al A 265,000& 1CH+ 122 3,180
Oag orMzte |t == 5,884
-JIE A 392,200& +32 177
—SAl A 392,200 128 4,707
OXD| ot 2e|iidY =2 7,1%
=D& & AHB02kW) 829,000& 33 2,487
Al & AH500kW) 392,200& 123 4,707
OFA &A= 2,2003+1,873m 4,121
O&ES+=EA2 == 116,226
Os&)| erdze| =4 34,980
LESTTAS 265,000 x2CH+ 122 6,360
—AEE A2 265,000 »2CH 128 6,360
“EHATAM S 265,000& »2CH =122 6,360
=22 265,000& »2CH 122 6,360
—QELE M 265,000& *1CH+ 122 3,180
=AM 2 265,000 »2CH 128 6,360
oA ctMte |t == 28,242
LS MS 392,200 x 123 4,707
At E A2 392,200 123 4,707
-HRAC A2 392,200& 123 4,707
=22 392,200& 123 4,707
-LFEAM2 392,200 122 4,707
- A2 392,200 123 4,707
O&EJ| et ety 30,060
—QESHE MR
1,019,720& « 128 12,237
aR= = g 465,340+ 123 5,585
“HRT M2 348, 7403 128 4,185
SUE A2 348, 7403 128 4,185
-QE T M2 203,520& 123 2,443
U= A2 118, 7202+ 128 1,425
OFA &A= 1,090 +21,049m 22,944
OEENZ HARUE =2 110,454
OsZ)| etz |t == 38,160




A CABTASISES AR
M DIENBT 29
Chel: MTAIREMZO B2y (crop:mel)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
—QET A 265,0002 *20H* 122 6,360
—NEE AR 265,0002 *20H* 122 6,360
—ECT AR 265,0002 *20H* 122 6,360
—AgscAn 265,0002 *1CH* 122 3,180
2UE A2 265,002 *1CH* 12 3,180
—SAE A 265,000+ 1CH* 122 3,180
R =y 265,0002 *30H* 122 9,540
OAg OHEBRIHE 242 32,949
—QETAB 392,20091x 122 4,707
~NEE A 392,20021* 122 4,707
—ELT AR 392,20021* 122 4,707
S SE=1— Loy 392,20091 122 4,707
2T AR 392, 2002 * 122 4,707
—SAT B 392,20021* 122 4,707
Ry 392,20021* 122 4,707
OI| oHE TS S22 23,662
—Q 25 & AJ 2H(433KN) 348, 74021122 4,185
— K 21 & AJ2H(500KW) 348, 74091122 4,185
~Z O & AJ 2H(BO0KW) 465,34021 122 5,585
—A B2 & A 2H250KN) 20352021 122 2,443
~2HLH S A 2H(110. 15KW) 137,8002 * 12 1,654
—S2 AP A 2H(70KN) 18,7202 * 12 1,425
~Db2 4 & A 2H(455KN) 348,74021% 122 4,185
OB Hoars 1,0002*14,388m" 15,683
® 22294 202 190 12
OAZOrH 2| 8 3 H| 53,0002 %1 53
OFJ|oHE e |3t 74,2002 %2 149
UEHEEAHZ Q1Zet 25 1,483,863 1,360,488 128,375
201 LB A H| 1,076,224 806,218 270,006
01 Atz 251,632 72,742 178,890
OFOrE BHAl ATES0] Al 28,530
OPCE 28,0002 %500 14,000
OMBIE(Windows Server) 440,000 %122 5,280
OMHZ(Linux Server) 750,000& x92 6,750
SHorae| SR H (EPP) 5,000 %500 2,500
orcg AZEY 0 30,290
OMSRI A 2018 49000024372 18,130
OB A 2000 82
280,000 %37 10,360
OLEREST 12.0(AH2240|HA)
18,0002 *100= 1,800
OLIEYUAHIA SOl AlRZ
140,000 140




SN SARBYSSER AREAHB
Hu: BRCNY 2Y
o2l FFAEEA2S 2el2g EER=E)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OZMHOIXl &HeI=E 0I8=
5,000,000& 5,000
QA0 HAIE S 500,000 500
OZMZMAMAIZEZ 3,000,000& 3,000
OAOIEEAM DI37=H
1,22021%2,6002 3,172
OQUMAI} PEBE ATEF Y P
75,000,000 75,000
OZMNEE B IHIEEES 25 I&5 &
FE 7 106,000
ODB e 2S NE3 24
41,000,000& 41,000
OB H2HH £=4 65,000,000 65,000
02 33244l 824,592 733,476 91,116
O MZ2IAIAE HW,S/W SXIZel(415)
5,200,000 =128 62,400
OTAMZ HERZD L BotEY SXI&2I(31
=) 6,800,000& = 12& 81,600
ORFID AIAEN STI22| (1404, 145)
15,315,0002x 12 183,780
OZHIO0IXlI S22l (1504)
1,578,000& =123 18,936
O&FESHA 22 Y 2UELl SXIZel(14
DLENY 1,700,000 123 20,400
OPC & Zelf] SXIZel(150L)
5,711,000& «12& 68,532
OSXESMEIA QB (150H4)
2,500,000 =128 30,000
Ogetdst Y THEEAHIA HES|H A
2= 23,750,000& *12& 285,000
OU-ANIEFB A S22 (3MH4)
1,762,000& 128 21,144
OZ M2 CCTVAIAES SXI2el(130H4)
3,950,000& =128 47,400
O MZLSHAZY S22l (14Ha)
450,000 128 5,400
206 =8l 2,520 2,520
01 M=l 2,520 2,520
ogssSAlAIZ2te] M 2,520
ogs 2 S4l A0S 6,000& *400m 2,400
OADIEENME AEIA 602 *2,0000H 120
401 AIEHIZL 200 15,000 88,000 73,000
01 Al&HI 15,000 88,000 273,000
OZEAZ HERZR L SASA
15,000,000& 15,000
405 XHeHE S| 395,119 458,750 263,631
01 ML =EFSHI 387,619 451,250 A63,631




SN CHBIUBSER AYTAR

Hu: ZTTHP 2Y

el BEARCAO Hol2d (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OLF HFHAZHl WA 99,500
OTFH 1,400, 000& *70CH 98,000
OLE=S 1,500,000 *1CH 1,500
OZM& =F UIERKIZEH wH 119,181
OHEAAX(E, LETAH)
24,500,000 2CH 49,000
OfKa082#IX 3,197,000 = 13CH 41,561
OREAP(0IZXT 2H01T0lIE)
1,060,000& *27CH 28,620
OEAM& == RFIDEY| WAl 98,976
OdAzEeIH/2H0lE
2,544,000 *4CH 10,176
O& X CHHILE 14,800,000 +6CH 88,800
O=M2Z == UPS Al 44,962
OMla(NE, &, E9, dg8)
44,962,000& 44,962
OQIMAIL HEOHHII(DID) 0K
25,000,000 *1CH 25,000
2 EA7I 7,500 7,500 0
OU-ADIEEAZ A7
15,0003 *500& 7,500
ANEEAZ 29 1,329,010 1,248,781 80,229
ANEEAZ UHEES 164,027 162,547 1,480
201 L2 AH| 69,587 68,027 1,560
01 AtR2elt] 69,587 68,027 1,560
OFIItHE F153 16,124
(OFSIN| 15,000& x2201* 12& 3,960
OXIZX] 13,0002 * 1901+ 12& 2,964
O=F2tX 5,000 =104 *52== 2,600
O&2HK] 11,0002 x5001 = 12 6,600
O=LHE2IXl 2cte! HIOIEHIolIA &2t Ol
22 2,292,000 *4=2D| 9,168
O&EXH A2t 0|22 (RSH)
1,250,000& * 12& 15,000
OFXEA H2t 0|82 (R=E)
4,750,000 x4Z 7| 19,000
O&EXAHH=F (L)
100,000 x50 5,000
o0tz 7=| 1,220 *4,340H 5,29
206 =4l 4,340 5,520 A1,180
01 =Yl 4,340 5,520 21,180
O=AM HelsZ 4,340
ORFID TAG 5002 x4, 34004 2,170
OctHEX s 93 5002 x4, 34004 2,170
405 Xt SHI 90,100 89,000 1,100




SN CHBMBEER YA

il

B ZRC NP 29
el ANBEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 =A bl 90,100 89,000 1,100
O&A 90,100
OgEtEA 15,000%4+3,5002 52,500
Ottt = A 15,0002 +840& 12,600
OFSPNESEnTSe= 50,000 x5005 25,000
ANEZAZ 232208 23 50,160 52,360 2,200
201 er23| 47,600 47,760 A160
01 At2t2ltl 4,400 0 4,400
0= 4329 cloldA 2
300,000 *2H 600
O#AIES 5,0002 *6007K 3,000
O XM= 2,000 *400 800
03 A2 I 43,200 47,760 A4,560
oM EZ3Z2 8 29 36,550
OLA=¢
40,0003 <2A[ 2tx302 £+ 123] 28,800
Osl+=% 70,0002 154 1,050
Onzd 2=
300,000 x35+23] 1,800
OUIEtHA 2HZ 018 =T
500,000 42| 2,000
Os=3d¢ 2,900
-2 £X 1,500,0002 %12 1,500
-89 oY 70,0003 *20K 1,400
OSMEA E208 2Y
40,0003 #2A|2++402] 3,200
O M2t F=2HeAL 1,200,0002 %12 1,200
OSAMoE A 2,500, 0002 12| *90f% 2,250
301 22N = 2,560 2,800 A240
11 AALEEIXIE S 2,560 2,800 A240
ONMSIIF NHASAHA AHIX
20,0002 » 16«82 2,560
ANEEAZ MHeEad 29 33,430 38,150 N4 T
201 er2 3| 4,440 6,160 A1,720
01 AtR2telHl 3,600 5,350 A1,750
Od=T A2 FIH|
100,000 64 600
O=AZ 0|2t CIE2
2,500 *400 1,000
O=N=ZBE 2,000& 500 1,000
OFSXAHAS HHHUE MHIA
5,0002 %2002 1,000
02 S3=gHl 840 810 30
Ogaltl 840




SN SNBHASSRR ABEHR
Y 2TZCAB 2
el AIEENZ 29 EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
Ot A2 390,000 390
O3 A2 450,000& 450
206 M= 4l 12,350 15,350 A3,000
01 =l 12,350 15,350 A3,000
OMIIBENHE 3,000 *3004 900
OXtz &l ArRIZ 100,000& = 1004 1,000
O=AN E8 HIY 150,000& 102 1,500
ORFID EI(2+2) 5002 *500H 250
OXsSUELHI| S5 X
3,000&*2002 600
OHRED(NMEUHES) 40,0003 2004 800
OU=E3ES 5,000
Olis=ds 1,500 *2,0000H 3,000
OJteelz 80,0002 2074 1,600
OslE32lIH 10,000& *40JHK 400
OrlZHEE 10,0002 504 500
OMA=)| & Wil
300,000 x2I1x23] 1,200
O=RU0IE 2H=E 100,000& *62] 600
301 LEHBNEF 16,640 16,640
11 SHALAHIXIEZ 16,640 16,640
OXHAS AR B sS4l 16,640
OZANZ Xtza SAHL 234
20,0002 x6ZH 104 12,480
OFFANEAS BEENMD ASUHIKE S
AHRH ES4Al| 20,0002 x2ZE 104 4,160
M= ASACU2SENM 97,720 R, 720 5,000
201 L2 H| 87,700 82,700 5,000
01 ArR2eltl 900 900 0
OAIEEDAM HMZ 3,000&*300% 900
03 A2 EH| 86,800 81,800 5,000
OUHESZA 15,0003 *4,5005 67,500
OUEEZAM B AEIA 300& *5,000% 1,500
OK A HAHHIZ 8,000,000&*13] 8,000
o2&+ 9,800
OUEEZA 22
700,000& *3H +23] 4,200
OEE3 Mg
40,0003 #2A1 2++703] 5,600
206 =4l 2,000 2,000
01 M=l 2,000 2,000
OZ2IY 2% A2E 19
200,000& 103 2,000
301 LetENEZ 8,020 8,020 0




SN CHBIUBSER AYTAR

M B3NS 2E
el ANBEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 6,400 6,400 0
OMUSHE BA HAX SA|
8,000 20 »203] 3,200
OXRA=EF NHEASAHAL &d|
20,0003 202 +82 3,200
14 JIEt2 8= 1,620 1,620 0
os=zZ2 22 90,0002 18 1,620
ST A2 222 517,680 517,680
307 glztol & 488,880 488,880
02 2B YA HE X 488,880 488,880
oge N2 2g 40,740,000« 122 483,880
402 DIZHXHE0| A 28,800 28,800
01 QIZERHE AR 2 (RHRITH ) 28,800 28,800
OYRTAZ TATL
15,0002 %1,920& 28,800
IR S 465,993 385,324 80,669
201 223 2,440 2,074 366
01 At22t2ltl 2,440 2,074 366
obta+=H| 1,220 %2,0000H 2,440
307 elztol & 370,000 362,000 8,000
05 212t =S 370,000 362,000 8,000
OJIH A2 29 370,000,000 370,000
401 AlEHIZ S 0HbI 14,773 14,773
01 AlZ2H| 14,773 14,773
ONEE Sst-d A=AY
14,773,000 14,773
405 KHakE SH 78,780 21,250 57,530
01 AL =S F = 48,780 0 48,780
ORMBII(20¢2) 660, 0002 *3CH 1,980
OF-l=s &4 450,000 *1CH 450
O3Es &3 3,500,000 «1CH 3,500
ONEd Sat+d 2= M
2,970,000 1CH 2,970
©312A3 (502/XI) 4,950,000 = 1CH 4,950
OZAE 2LIE(242!X1) 220,000 *1CH 220
OJI12&,01R4, 22 10,0002 %15 110
oZos Ha 350, 0002 *50H 17,500
OZ2AE 2kt 135,000 * 100K 13,500
OEHE= PC 720,000 *5CH 3,600
02 A+l 30,000 21,250 8,750
(OE=V 15,0002 %2,0002 30,000
2IH(CH2ABUSISEE ABEAZ) 1,299,069 1,421,349 A122,280
= 46,384




SN SNBHMSISER ARCHR
B WESAAH|(CHBEMSEER AYCAD)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 23,192
Al 1,229,493
ol 2FH] 1,083,729 1,158,701 A104,972
= 46,384
S 23,192
Al 984,153
QI214| 875,950 974,660 A98,710
101 @124H| 834,211 919,787 N85,576
01 2= 332,565 346,960 A14,3%
OAteI 222 332,565
OggHA 11,1302 x83Z+30AI 2+ 123 332,565
02 JIEta 2= 136,233 153,767 A17,534
OAIR222+E 136,233
O A2 AgS
11,1303 » 18 *30Al 2t 12 72,123
OAIRHIES DI A
11,1302 x 132 +30AI 2+ 123 52,089
Ooget FIIA
11,1302 +3E +30Al 2t 123 12,021
03 BRA(RIH) 222 365,413 419,060 N53,647
OANEZANZ S2H B 365,413
oJi2au=) 93,638
123 2,392,970 «2F « 122 57,432
0= 3,017, 1103« 1Z~ 122 36,206
OJl=2=2((t=) 171,643
5= 2,383,920 6~ 123 171,643
O&d+g 50,0003 9 128 5,400
OS+=A2=g 50,0002 x0& » 123 5,400
OZN=AHI 140,000 x9S * 122 15,120
OEx=g 3,360
- <Xt 40,000 x4~ 128 1,920
-JIEHS 20,0003 6~ 128 1,440
Oo25+¢ 13,265
-ua7Es) 19,6403 x2& 123 2,872
-L=(2058) 150,850 x 1~ 123 1,811
-t=(9838) 119, 1903 x6H 122 8,582
OFEFIHI 22,108
-uz7ss) 1,196,480 «2& »23] 4,786
-U=(20ss) 1,508,550 x1& %23 3,018
-t2(958) 1,191,9602 6 & »23] 14,304
Oxz=22=¢ 18,783
-u27ss) 169,800 x2& * 122 4,076
-U=(20ss) 210,300 x1&~ 128 2,524




SH CARBMSSES A-T AR
. HYHSIAU(THALMSIS2EE A-TAZ)
chol: ol (19 @)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
-t=09ss) 169,200 x6H 122 12,183
OdItE 4| 16,696
-L=2(7ss8) 90,5603 *2ZH«20 3,623
-LIZ2(2058) 112, 1603 *1H 20 2,244
-t=09s8) 90,240 3«62«20 10,829
4 HAZRE3S 41,739 46,873 Nb, 134
M SRE(PINHSL)2ZX BE828=2 S 41,739 11,318 30,421
O=2R& 4UBEz JI&ARE3 41,739
O=83 373,513,000& 4. 5% 16,809
OHLEE= 373,513,000& *3.495% 13,055
OWAEE= 13,055,000& %12.27% 1,602
OLNEEE= 373,513,000 *1.75% 6,537
OHtNEE = 373,513,000 *1.00% 3,736
ANEEAZ JHZAIZE HE 2F 177,779 184,041 NB,262
= 46,384
& 23,192
Al 108,203
101 2124 d| 159,909 162,637 N2,728
s 46,384
= 23,192
Al 90,333
03 SR (RIHL) 22X 159,909 162,637 N2, 728
ORINHL2Z=X B 159,909
OJleg(tiz 95 8)
2,383,202 x4B +12& 114,429
= 46,384
& 23,192
Al 44,853
o254 119, 190& x4F 122 5,722
O&eise 50,0003 x4H 123 2,400
OS=32 50,0003 x4 123 2,400
OZEFOt| 1,191,960 *4H +23 9,536
Oxz2Y 169,200 x4H 122 8,122
OZAZ Al 140,000& 4B+ 122 6,720
OHIE 4| 90,2403 x4H 20 7,220
OJEsY 3,360
i BN 40,0002 +4H*12& 1,920
-J|EFE 20,0002 x6H*12& 1,440
M HIFRE3SS 17,870 18,204 A3
M R (RIAHN) 22X BEa84=2 S 17,870 4,3% 13,474
O4UEE J|2ARE = 17,870
o=ndaz 159,909,000 *4. 5% 7,196




SN SNBTYSISER APTAR
M HHSHAH(CHBEMSEES A—TAR)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(@Faksi--t=y=3 159,909,000 +3.495% 5,589
OFNYEE=R 5,589,000& %12.27% 686
ouns=sgs 159,909,000 *1.75% 2,79
OttEs= 159,909,000 * 1% 1,600
=3l 245,340 262,648 A17,308
Jl=3H] 245,340 262,648 A17,308
201 er23| 193,250 209,538 16,288
01 At2t2ltl 50,360 47,220 3,140
QJ|2dR+A2S3HI(0IE3YI)
500,000 %23 11,500
ozgt(01=3dl)
8,000 x25H 82 x 12 19,200
OFHUZE LI=H| 1,280
oz22=023) 240,000 2 480
Odyst=s s 35 400,000 =2 800
od=28=I| sX2el
45,0002 #5CH* 122 2,700
03718387 ®X&cel
43,0002 =150« 12 7,740
ORoIZH| FAl2c 300,000& * 12 3,600
OZZE &l 220,00024 %154 3,300
O=AII EH 260,000 *4H 1,040
2 Ss52g4l 142,890 162,318 A19,428
oRER= 1,650
Ooget 4003 +1,000S 400
OSYI 2,5003 %5008 1,250
OXTI=AD| RXI2ell
3,700, 0002 *3CH*8% 888
odER=s 94,566
oJlZes 8,230& x350kw* 12 34,566
OAEERe3 100& *50, 000kw 122 60,000
oY - ot=kes 2,670 +900m 122 28,836
OXsx=EE 500,000 *3CH 1,500
OXS A 100,000 «30H 300
Oxtgrset] 14,500
Osgxt 6,500,000 =2CH 13,000
OSSIHEIIRY) 1,500,000 1CH 1,500
OHSRE NEESEE(3Y, ML)
650,000& 650
202 04l 33,600 34,800 21,200
01 =LHAHI 21,600 22,800 1,200
©J1=2Z2H| 20,0002 x 182+ x 12 21,600
02 A0 12,000 12,000 0
O©JI=&H| 200,000 x5 122 12,000




SN SNBHMSISER ARCHR
M HEHSHAH(CHBEMSEES ARTAR)
&l D122 (CH9: &S1)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
203 R F&] 18,490 18,310 180
01 J| 22 =4 6,000 6,000 0
OJIEH(42) 6,000,000& 6,000
02 HRIHHHRFAIH| 7,150 6,970 180
QJlEH 7,150
O100E DX 40,0003 *100H 4,000
O101~400Z 30,000 %105 3,150
M FA2ILRFAL 5,340 5,340 0
OJIEA 5,340
O212(30¥0135t) 400,000 x 12 4,800
OZ1H3121014) 5,000&*x9H « 123 540




=H o kl
Mot B

SN CARBMSIEER QESAT AR
¥ SSTAME 2(SsL 2 /280=)
el LSS 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CA2BMUSISER QST A2 3,564,562 3,095,816 468,746
= 116,040
== 58,020
Al 3,390,502
SN 2H(2aL2/23H0E) 1,741,167 1,499,479 241,688
LESFENS 2 470,312 418,358 51,954
LESFTAS INZEE 162,501 163,299 ATB
201 et23| 65,861 67,179 /1,318
01 AtR2t2|HI 65,861 67,179 1,318
OQEBLTHB HIIZHS(M2, &X) 7
== 13,708
Oos2Xl 15,0003 x 1504 Ak= 123 2,700
OXIZ Xl 13,0002 x10JH Atx 123 1,560
OF2X 11,0003 »444 Ak 123 5,808
O=F2HX 5,000 * 140 Ab+525= 3,640
ONZENZ HIIZHE(FA) A== 9,448
O&2HX 11,0002 »4404 At= 123 5,808
O=2tXl 5,000 1400 Ax623= 3,640
OFJAC M HIRIHS(HN) =& 9,448
Ot 11,0002 x440 Ak 123 5,808
O=F2tXl 5,000 * 140 A+525= 3,640
OFBT A HIIZHS () =2 6,060
O&2HX 11,0003 x40JH At+ 123 5,280
O=2tl 5,000 *3H Abx52== 780
OSLENZ HIIZHE(EA) A== 9,448
O&2HX 11,0002 »4404 At= 123 5,808
O==2tXl 5,000 1400 A+52= 3,640
OU== A2 HIIHS () =28 6,060
OZ2HX 11,0002 *400H At= 12 5,280
=2tX 5,000 *3H Abx52== 780
OVODAIHIA AtEZ 360,000 122 4,320
O0ta =] 1,2203 6,040 7,369
206 M=l 6,040 7,120 /1,080
01 M=4l 6,040 7,120 1,080
OENE2ES 6,040
ORFID TAG 500316, 040K 3,020
Ot EX 2 95 50036, 040K 3,020
405 AHatE = 90,600 89,000 1,600
02 =A bl 90,600 89,000 1,600
(OEV 90,600
OgetE A 15,0002 %5, 200 78,000
OZRgetet = A 15,0002 »840& 12,600




SN CABHMSEES QNBAC AR

M BTN 2 (L2 /25 H0=)

O QESATAZ 29 (69 =)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
QESHEANZ FHEIZ ) 29 84,620 76,240 8,380

201 LB-2AH| 79,820 71,440 8,380
01 AtR2telt] 10,600 8,300 2,300
Ox Z&ks|ol etoldlA 7Y
300,000 *74 2,100
OsME2AH 2,000&*1,0008 2,000
oM EEE2 2,500 *1,0008 2,500
OSMESAIY EE22 20,000 2004 4,000
03 A2 G| 69,220 63,140 6,080
OSMNIIEZ NS 29 23,840
O A=Y
40,0002 *2A1 2k 1301 BH213] 21,840
Oy 70,0002 *207H4 1,400
OZ2d 29 4ABE
100,000& 65 600
O M&t==2F AL 1,000,000& *13] 1,000
OSsM2AY SHAL 1,000,000 *13| 1,000
Oox=d I8¢ 500,000 *43| 2,000
OSgLA=L(22EY)
500,000 *63| 3,000
O=AM=z2tEe 900,000& *13] 900
O=AM=X T2 4,600
OZA==E
40,000& *2 Al 2H401 B+ 103! 3,200
OSgZAE(S) 300,000 & *43] 1,200
OoEz2]d 23 4288
100,000& 25 200
O=SNZIEHS 20,400
OXGMEESH 23 A
500,000& * 102! 5,000
OH2oatE 300,000& *103 3,000
OO H&E =20 5,000,000& 5,000
OXIS &I 24 300,000& =183 5,400
OA2E & J|EtHAI2 |
2,000,000& 2,000
O=AMs0tel 54 1,600
O=UE ZAt=Y
40,0002 #2 A1 2tx203] 1,600
O=SMESAIH 7,880
OZ A= 40,000 x2A| 2++362] 2,880
OS2 AE(SY) 500,000 & *63! 3,000
OoEz2d 23 288
500,000 *43| 2,000
O3t U= 500,000 *63! 3,000
203 RF=&Y| 2,000 2,000 0




SN CARBMSIEER QESAT AR
¥ SSTAME 2(SsL 2 /280=)
el LSS 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 2,000 2,000 0
A HRFT 2,000,000& 2,000
301 EtE2 N = 2,800 2,800
11 #AIAMHIXIZ S 2,800 2,800
OnZ & NHASAHA S4H|
8,000 *10& %102 800
OMESINIF NHHSAHA 2SS4
20,0002 x10E 102 2,000
LESTEAS N2 29 32,247 32,943 A69%6
201 er23| 10,372 9,730 642
01 At2teltl 5,650 7,450 1,800
Od= =A2U3 I
100,0002 x102*13] 1,000
OB HAE
100,000 *1&»23] 200
O=A2 O|Et CIE
2,500&+1,000% 2,500
oZegH &U 220,000 *7H 1,540
O=ALEX 21,0003 *102f A 210
OR2ZE M AOIE ctojdA 2
200,000& %12 200
2 S5=24g4l 4,722 2,280 2,442
Og2s|IRY= 2,322
Ot ==M2(23) 390,000 =21 2t 780
O == M2 (33) 123,000 x4 04 2t 492
O33N (BE=E) 300,000 1042+ 300
OS2EAME(CE2) 150,000 504 2 750
Oz &&= 0lH VROM AIAE =Al2clH]
600,000 43 2,400
206 M=l 13,555 12,655 900
01 M=4l 13,555 12,655 900
OU=3as 5,100
Oolsste 1,500& 2,000 3,000
OJteel= 80, 000& *20H 1,600
O == =5 10,0002 *50H 500
OXtz & Atel= 100,000 * 184 1,800
OS==2a4=0IE VROM 2925
100,000 * 10H 1,000
Otl2H=E 10,0002 *30H 300
OENE+E HOIZ 150,000 52 750
ORFID B (B+8) 5002 *5000H 250
OXsUEe)l 9+ EX
3,000 *3002 900
OAJIE SAHE 3,000 *100H 300




SN CARBMSIEER QESAT AR
¥ SSTAME 2(SsL 2 /280=)
el LSS 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUXEX=4 2 975
Opfl=4t 35,0002 *15H 525
o312 15,0002 %154 225
OofteA 15,0002 1574 225
=AY HAS A
150,000& *62] 900
OA=g JIetA 20,0002 = 14H 280
Oz =8| 40,0003 #2504 1,000
301 22N = 8,320 4,160 4,160
11 AALREIXIES 8,320 4,160 4,160
OXESAHAL ES4|
20,0002 x4H =104 8,320
LESFTAZ ANEESFX2 160,944 114,876 46,068
101 @124H| 131,851 87,143 44,708
MU IIRIMZZENSES 131,851 87,143 44,708
OFA FEZ 24(3Y) 121,902
oJlzs 2,031,6102 3+ 123] 73,138
OZH=AHI 140,000 38 * 123 5,040
Odel=g 50,0002 *x38 * 123 1,800
ORld+=g 50,0003 3 x123] 1,800
OE &=l 609,480 x3H *23] 3,657
OYItE 4| 74,7203 %38 162 3,587
OsXEE 960,000 *3& 2,880
O& &= 10,000,000 3 30,000
OS8R JI2RSE= 9,949
Oo=ggs 89,022,000& *4. 5% 4,006
(@Falz gt 1= 89,022,000 +3.495% 3,112
OFINLEE= 3,112,000& *12.27% 382
OlsE8s 89,022,000& *1.75% 1,558
OttiEg= 89,022,000 * 1% 891
201 fer= 3| 28,213 27,733 480
01 At 2|l 27,913 27,433 480
OFIEHIANAE MEE
285,000 * 122 3,420
od=2d=)| Zxtz
38,0002 +8CH =122 3,648
O3JIEE)| dits
30,0002 «13CH*12& 4,680
OMA=I| A 300,000 *3CH*22] 1,800
Oo3ad % HAES 9,500,000 9,500
ogsdeES 2,130
OzEA=A| 130,000 x62 A 780
Oad A=A 90,0002 *15H 1,350




SN CARBMSIEER QESAT AR
¥ SSTAME 2(SsL 2 /280=)
el LSS 2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
odzdsI| SFH 16,5002+ 102F A 165
OFAL2CIES 50,0008 %105 500
(OFSEals=g= 50,0008 x35+23] 300
ORE W= 1,770
O33712 at2e| it w=H|
200,000 64 1,200
Osd| et 2|kt WS
30,0002 64 180
Ottt E A 22 |Z=AH w=H|
65,0002 6% 390
2 35244l 300 300 0
OAgotM 2| &2/l
50,0003 64 300
405 KHoHF S| 880 880
01 ML ESFSHI 880 880
ORMAUEMAHI 2 880,000 *1H 880
IE=ANE 30,000 31,000 1,000
201 et 3| 30,000 29,000 1,000
03 A2 I 30,000 28,700 1,300
Ot(H)=N2SE 24 30,000,000 30,000
HEANZ 2 252,135 213,897 38,238
AEDNZ 2ES 86,514 86,835 A321
201 er23 | 11,314 12,315 21,001
01 At2teltl 11,314 12,315 21,001
odItd=s A= 5,580
(OFESN 15,0003 * 18I Ab+ 128 3,240
OXIgX 13,0003 x15JH Ak= 123 2,340
O0ta+=bl 1,220& *4, 7002 5,734
206 MH=HI 4,700 5,520 A820
01 MHZH| 4,700 5,520 A820
O=NE2ES 4,700
ORFID TAG 5003 +4, 700K 2,350
OHeEEX 2 95 50021 *4, 700K 2,350
405 KHaHE SH 70,500 69,000 1,500
02 =A bl 70,500 69,000 1,500
O=AM=ebI 70,500
Oogete A 15,0002 %4,000& 60,000
OXgrer2tl =M 15,0002 »700& 10,500
SEEAS 2EENY 29 34,915 32,243 2,672
201 ger=3| 33,315 30,643 2,672
01 AtR2te|H] 3,708 2,708 1,000
O=sN=TE 2,000 *760 1,520
o=N2 EEE 2,500 #4755 1,188




SN CARBMSIEER QESAT AR

M ZZTHE 2 (232 /23H0=)

Rl deEME =Y (SH9 H2)
C B 93 - KA - BES Ol &t A 2
OHAE 2IIE 5,000 20074 1,000

03 @At2EH] 29,607 27,935 1,672
O=MzsEz20d 29 24,842
O A==
40,0002 <241 24+ 14} BH24 5] x90% 24,190
o84 70,0002 +57H 350
Oy 2% A2E
300,000& *12] 300
O M 2t==2k AL 765,000& *13] 765
O=NoY A 1,000,000& *13l 1,000
OoO=% JII8H 500,000 & *43] 2,000
oO=sAaE 29 500,000 *23] 1,000
301 LetEEZ 1,600 1,600
11 HARHIXKIES 1,600 1,600
023 NAZAK 2
8,000& x10H*203] 1,600
MY A=2EEd 2 22,180 16,980 5,200
201 23| 2,245 2,045 200
01 AFS2teltl 2,245 2,045 200
OXZe2lH &Y 220,000 %574 1,100
O=ADI &1 260,000 * 1K 260
OSsAD| &8 475,000+ 104 475
O=sAEX 21,0003 10 A 210
ORCIZHMZ AOIE 2tolMlA 2el
200,000& *123] 200
206 M= 4l 8,215 6,615 1,600
01 =4l 8,215 6,615 1,600
OU=E3IAS 4,000
OU&E3te 1,500 *2,0000H 3,000
OJteel= 80,0002 * 1074 800
Odll&E3elH 10,000& 207K 200
OXtz &l AtRIZ 100,000 *6JH 600
otXNgxza 2L Xt 975
OdlleAt 35,0002 * 157K 525
o718 15,000& * 154 225
onteA 15,0003 * 15JH4 225
OEAME=SE HIO0IZ 150,000 2= 300
OXsUseeI| g5
3,000 +802 240
OAME2E JIEA 20,0002+ 1074 200
OMItE SHE 3,000& %1004 300
O&AIE HXIN 80,000 *5JH 400
otz H=F 10,0002 40K 400




SH CHRBMESER QRSAC A
¥ A 2(SsL2Z/280=)
Rl deEME =Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(CFSESIE E=gesiod-lp) 40,0002 *10H 400
=AY FAIS AB
100,000 *432] 400
301 EetE2 NS 8,320 8,320
11 #AIAHIXIE S 8,320 8,320
OXHESAHAL Es4|
20,0003 x4F 104! 8,320
405 AHaHE S 3,400 3,400
01 AL =S F=HI 3,400 3,400
OO0tsAt=4a Mt 850,000 4K 3,400
SETDANZ AIEEFA2L 108,526 77,839 30,687
101 @12A4H| 87,903 58,096 29,807
04 JIZtN22 XS 2+ 87,903 58,096 29,807
oZAx =EA 2(29) 81,269
OoJlzs 2,031,610 2 * 122 48,759
Od A ZAMH| 140,000 x2& x122] 3,360
Odcl=g 50,0003 x2& x123] 1,200
O =g 50,0002 x2& *123] 1,200
Og &SIl 609,480 x2EH *23] 2,438
OS2 4| 74,7203 x2E 162 2,392
O=NEAE 960,000 2 1,920
O&lX= 10,000, 000& »2H 20,000
OCAUEE R JIARE= 6,634
O=gds 59,349,000 4. 5% 2,671
Odd=EE= 59,349,000 3.495% 2,075
OFIIRYEE= 2,075,000&%12.27% 255
(@ME=h= = 59,349,000& *1.75% 1,039
OuttiEg= 59,349,000 1% 5%4
201 2= 19,743 19,743
01 At22t2lt] 19,029 19,029
ORQUBHIAIAE AIEE
220,000 122 2,640
od=zd=)| Zitz
34,0003 4CH* 122 1,632
O3JIEEI| Xz
43,0002 *7CH* 122 3,612
OHMA=I| A2F 300,000 *2CH*12] 600
Oxad & FAES 6,200,000 6,200
oggac|IE= 2,480
O&A=H| 130,000 3 82 A 1,040
O&aA=H 90,0002 * 16H 1,440
odzd+I| SFH 16,5002+ 102F A 165
odAEE(dE 2) 50,0002 x65+43] 1,200




SN CARBMSIEER QESAT AR
M BTN 2 (L2 /25 H0=)
ol AEA2 2Y EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OAld AtoIZ 100,000 *5H4 500
02 33=24H| 714 714 0
O&Sx HA 14,0002 +x51E 714
405 KHHE S| 830 830
01 XML =EFSHI 880 880
OSRAEIZRANHI| 2L 880,000 * 14 880
HATHZ 2 276,100 225,829 50,271
HATMHZ NSES A,320 86,031 8,289
201 L2 AY| 11,120 11,511 A391
01 AtR22eltl 11,120 11,511 A391
OFIIUHZE F153 4,776
(OFES=IN| 15,0003 #1770 At= 123 3,060
OXIX] 13,0002 * 11 Atx 122 1,716
O0ta 2=l 1,220&*5,2002H 6,344
206 M= 4l 5,200 5,520 A320
01 =Yl 5,200 5,520 A320
O=NECES 5,200
ORFID TAG 5002 %5, 2000H 2,600
ot ERX 2 93 5002 x5, 20004 2,600
405 KHHE S| 78,000 69,000 9,000
2 EA-7I 78,000 69,000 9,000
OetE M 15,0002 *4,500 67,500
OHMZBEHIE A 15,000 *700& 10,500
HASHNZ FSZE)H 2H 37,730 40,170 2,440
201 B2 AY| 36,130 38,570 2,440
01 AtR2telt] 5,500 4,500 1,000
(OEN =2 P, 2,000&*1,0002 2,000
oA EE2 2,500&*1,000% 2,500
oStHY 2R3E 5,002 %2002 1,000
03 #Al2 | 30,630 34,070 A3,440
OSN2HZ2IY 2 26,860
OBASEY
40, 0002 *2A| 2k 130 1243 24,960
O 70,0003 * 1004 700
OZzd 29 4ABE
300,000& 2523 1,200
CEIIEEYE 960
OSUE BAEY
40,000 #2A| 2tx123] 960
O M2t==2t AL 810,000 *13] 810
O=MNaE AL 1,000,000 *12] 1,000
o=3 I8¢ 500,000 23| 1,000
301 LPENSZ 1,600 1,600 0




SH CARBMSSER QESAE
HE: DRCND 2Y(2HURT/2301)
ool FEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 dALEEIXIZE S 1,600 1,600 0
OZ2I NAZAX 24|
8,000 102 20! 1,600
A2 eged 29 32,710 18,975 13,735
201 fet=2 3| 4,275 4,075 200
01 AtR2t2|HI 4,275 4,075 200
oZgH &4 220,000 *5H 1,100
O=AI &l 260,000 «8H 2,080
O=AMI| E™H 475,000 1K 475
O=ALEX 21,0003 »208t A 420
ORCISHEAOIE ctoldATY
200,000& %12 200
206 M=l 7,700 7,700
01 MHZHI 7,700 7,700
ous3ds 4,000
Oousste 1,500& 2,000 3,000
Odt=el= 80,0002 * 107K 800
O == =B 10,0002 +20H 200
OXZ4d AtelE 100,000 *5H 500
OEAME+E HIOIZ 150,000& 32 450
ONIIE S 3,00024+10004 300
ORNSUHEULI| Y45
3,000& 1002 300
OtI2H=E 10,0002 *30H 300
OAl=g JletA 20,0002 %154 300
OUIXNEX=z4d 2 650
@)1=t 35,0002 *10H 350
O2I12E 15,0002 *10H 150
OfteA 15,0002 10H 150
O=Fd0IE HAIS A5
150,000 +62] 900
301 EtE NS 7,200 7,200
11 #AIAMHIXIZ S 7,200 7,200
OXHESALAL 2s4|
20,0002 x3EH =120 7,200
405 KHaHE SH 13,535 13,535
01 AL =S F=H 13,535 13,535
Ot 12,000
O =K At 6,000,000 1K 6,000
OO0tsAt= 4 At 750,000 *8H 6,000
O=SMEXIIDI 1,535
OZ30122&7| 550,000 1K 550
Oo2a3geld 985,000 1M 985




SN CARBMSIEER QESAT AR

¥ SSTAME 2(Ss 2 /280=)

ol HATME 28 CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HETAZ AMEESFA2L 111,340 80,653 30,687

101 @124H| 87,903 58,096 29,807
M ORNZZE2NSE S 87,903 58,096 29,807
OFA =5 2(29) 81,269
oJlzs 2,031,6103 2 *123] 48,759
OZN=AHI 140,000 x2& *123] 3,360
Odel=g 50,0003 2 x 122 1,200
Oslds=g 50,0003 x2& x123] 1,200
OE &=l 609,480 x2 2 +23] 2,438
OgItE 4| 74,7202 +x2E 162 2,392
O=ArelE 960,000 2 1,920
O& &= 10,000,000& 2 20,000
O R JI2RYE= 6.634
O=udsEER 59,349,000& 4. 5% 2,671
(@Fafz =1 59,349,000 +3.495% 2,075
OIWIRLESER 2,075,000&*12.27% 255
(@ME=1b= = 59,349,000 *1.75% 1,039
OttEsg= 59,349,000 * 1% 5%4
201 fet=23y| 22,557 22,557
01 AtR2te|HI 21,717 21,717
ORIFHIANAE MEE
240,000 * 122 2,880
odzd=sIl iz
34,0002 =401 * 122 1,632
03718387 Sxt=z
45,0002 «11CH* 123 5,940
OMASI| 2B 300,000 x2CH*23] 1,200
oxEd % HAES 6,200,000 6,200
oggac|2= 3,100
O&A=H| 130,0003 102 A 1,300
Oad A=A 90,0002 *20H 1,800
od=d+)| 54 16,5002 =108+ A 165
odABE(3E 2) 50,0003 x3&5 42 600
2 35234l 840 840 0
(OFSke] ENgP=EN 14,0003 +60E 840
405 KHoHF S| 880 880
01 ML ESFSHI 880 880
ORMAUESHAHI 7 880,000 14 880
LN =2 209,365 182,539 26,826
LEEAME NSES 54,143 55,920 ATTT
201 223 7,103 7,860 ANT57
01 At22t2lt] 7,103 7,860 NT5
o= A5g 3,516




SN CARBMSIEER QESAT AR
I DTCNT 2Y(SHUBZ/2502)
o QECME 2E CERE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
(OFES=IN| 15,0003 * 100 At=12& 1,800
OXIZX] 13,0002 * 110 Abx 122 1,716
O0ta7=H| 1,220 *2,940H 3,587
206 =4l 2,940 3,560 AB20
01 =Yl 2,940 3,560 2620
OZNE2ES 2,940
ORFID TAG 500 *2, 94004 1,470
Ot EX 2 95 5002 *2,94004 1,470
405 XHobE S| 44,100 44,500 A400
2 EA7I 44,100 44,500 2400
OTAM 44,100
Ogete A 15,000& *2, 700 40,500
OZgtEtat = A 15,0002 x240H 3,600
QETNE FIHEZ20H 2Z 31,115 28,915 2,200
201 B2 AH| 30,715 28,115 2,600
01 AtR2telt] 3,565 2,565 1,000
O=sNEZE 2,000 *570% 1,140
oA EE2 2,500 *570% 1,425
OHtAHE 2FIIE 5,000& 2002 1,000
03 &At2ZH] 27,150 25,550 1,600
OSMIIEZ NS 29 19,750
OZ A=Y
40, 000 *2A1 2k 1001 BH243 19,200
O 70,000 *54 350
OZ2 ) 2I9ARE
200,000& *13 200
O Mat==2h A} 1,000,000& *13] 1,000
O=MNaY &AL 1,000,000& *13] 1,000
oO=x=d HIIZ3H 500,000 *43| 2,000
odgeAazdg 3,400
OXOPH=Z203(01)
200,000 *63] x20H 2~ 2,400
OZZNYRISE (K023, =0183])
100,000& 103! 1,000
301 LEBNEF 400 800 A400
11 AP S 400 800 2400
OIZZ Y N SALA SAH|
8,000& x5% %102 400
QECAE Nzga 2H 18,041 22,325 N4,284
201 LB-2AY| 2,245 2,045 200
01 AtR2telt] 2,245 2,045 200
oZelHe EY 220,000 *5I4 1,100
OsA| EH 260,000 * 14 260




SN CARBMSIEER QESAT AR
¥ SSTAMZ 2(SsL 2 /280=)
el QM2 =Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=AMI| E™ 475,000 1K 475
O=ALEX 21,0003 %102f A 210
OR2lE HMZ AOIE 2toldlA e
200,0002 %12 200
206 M=H| 5,460 5,460
01 MHZH| 5,460 5,460
OlE2AS 1,750
OousEste 1,500 *500H 750
Odt=el= 80,0002 * 107K 800
Osl=3eH 10,0002 +20H 200
OUXETza 2SS 860
Onfl=4t 35,0002 10H 350
OJIEE 15,0002 %174 255
oA 15,0002 *17H 255
OtI2H=E 10,0002 *40H 400
OAl=g JIetA 20,0002 10H 200
O=AME+E HIOIZ 150,000 +52 750
OXsSUHEEYI d+5 EX
3,000& 1002 300
O8] 40,0003 * 107K 400
OAIIE SAH= 3,000 «100H 300
odIItd=8 AEIA 1,000 *500H 500
301 LEtE N = 6,240 8,320 /2,080
11 #AIAHIXIZ S 6,240 8,320 2,080
ONAZAN EELH|
20,0002 x3EH =104 6,240
405 KHaHE SH 4,0% 6,500 A2,404
01 Tt ESF=H 4,0% 6,500 A2,404
O0lsA Add MIt 1,024,000 44 4,09%

LENZ AIEEFA2L 106,066 75,379 30,687
101 @124H| 87,903 58,096 29,807
M OIRINZZ2NSE S 87,903 58,096 29,807

OFA =5 2(29) 81,269
oJlzs 2,031,610& 2 *123] 48,759
OZN=AHI 140,000 x2& *123] 3,360
Odel=g 50,0003 2 x 122 1,200
Osld+=g 50,0003 x2& x123] 1,200
OE &=l 609,480 x2 2 +23] 2,438
OYIt2 4| 74,7202 +x2E 162 2,392
O=ArelE 960,000 2 1,920
O&l &= 10,000,000& 2 20,000

Oz JI2RY= 6,634
o=z 59,349,000& 4. 5% 2,67




SN CARBMSIEER QESAT AR
¥ SSTAMZ 2(SsL 2 /280=)
el QM2 =Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
(@Faksi--t=y=3 59,349,000 +3.495% 2,075
OFIIRYEIE= 2,075,000&%12.27% 255
ouns=sgs 59,349,000 *1.75% 1,039
OttEs= 59,349,000 * 1% 5%4
201 er23 | 17,283 17,283
01 At2telt] 17,283 17,283
ORQUBHIAIAE AIER
237,500 122 2,850
od=2d+)| Sxtz
23,7503 40122 1,140
O3J18&J| SRz
42,7502 6L+ 122 3,078
OMA=)| ABF 300,000 +3CH*13] 900
O3&d & FAES 5,510,000& 5,510
oggaAcIE= 2,840
O&a=H| 130,0003 88+ A 1,040
OdzA=H 90,0002 +20H 1,800
odzds)| SFH 16,5002 102t A 165
oFAM2CIZS(EZE 2)
50,0002 +85 400
odaAEZ(dE 2) 50,0002 x4 E+23] 400
405 AHAHE S 880 880
01 AL =S F=H 880 880
OR&EIESMAHI| 2 880,000 1CH 880
SN2 2 345,468 315,575 29,893
SE-AZ NH2ES 112,589 111,032 1,557
201 er2 3| 15,949 17,072 A1,123
01 AtR2t2|HI 15,949 17,072 A1,128
oxJItd= s8 4,260
(OFESN 15,0003 *15IH Ak 123 2,700
ORI 13,0003 x10JH At= 123 1,560
OVOOAHIA AlEZ 360,000& * 122 4,320
O0t=a =l 1,2203 6,040 7,369
206 MH=H| 6,040 6,960 2920
01 M=4l 6,040 6,960 A920
O=AMECIEE 6,040
ORFID TAG 50036, 040K 3,020
OctaZXl 2 95 500 +6,040H 3,020
405 AHaHE = 90,600 87,000 3,600
02 A+l 90,600 87,000 3,600
(OE=V 90,600
OgEte A 15,0003 5,200 78,000
OXgetet M= A 15,0002 8402 12,600




SN CARBMSIEER QESAT AR

¥ SSTAME 2(Ss 2 /280=)

H?el: SHEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SETAZ 220 2 37,120 36,490 1,630

201 er23 | 35,920 34,290 1,630
01 At2teltl 4,500 4,500 0
OSA=EE 2,000&*1,000% 2,000
o=AN2 2= 2,500& 1,000 2,500
03 SHAI2 | 31,420 29,790 1,630
OSHEITZIY 2 23,700
OBASEY
40,0003 #2A1 2H200H B+ 133 20,800
Osl+=% 70,0002 *207K 1,400
Oongd 28 423
300,000 %53 1,500
o=&d I8¢ 1,000,000 #22] 2,000
O A 2t=2+ A} 1,000,000& %12 1,000
OSAelE A 1,000,000& %12 1,000
SAS0tel F4 2,820
OSHE 2AE
40,0002 x2A| 2+x20H B+ 123 1,920
OEEE A #¢
15,0003 103 +65 900
OSAMEseY 900,000 12 900
301 EetE NS 1,200 1,200
11 #AIAHIXIE S 1,200 1,200
Oz XHESAHL S41H|
8,000& %108 %153 1,200
SN2 UGS EHY 29 44,430 43,430 1,000
201 er23| 3,005 2,805 200
01 At2tltl 3,005 2,806 200
oZgH &H 220,000 8 H 1,760
O=AMII El 260,000 <2H 520
O=AEX 21,0003 #2528 A 525
OSRQ2l2 M= AOIE 2toldlA e
200,000 *12] 200
206 M=l 10,425 11,925 21,500
01 MZH| 10,425 11,925 1,500
olz2as 5,100
OusE3te 1,500& *1,000H 1,500
O2tEel= 80,0002 40K 3,200
Odll==eIY 10,0002 *40H 400
OAJIE SAHE 3,000 *100H 300
OFANE+E HIO0IZ 150,000 52 750
OXstsEeell 95 EX
3,000 *3002 900
Otl2H=E 10,0002 *30H 300




SN CARBMSIEER QESAT AR
¥ SSTAME 2(Ss 2 /280=)
H?el: SHEA2 2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUXEX=4 2 975
Opfl=4t 35,0002 *15H 525
o312 15,0002 %154 225
OofteA 15,0002 1574 225
OAl=g JIetA 20,0002 *15H 300
OX=4 ARIE 100,000 = 10H 1,000
oxze| 40,0002 *20K 800
301 Eet2 NS 28,000 25,200 2,800
11 #AIAHIXIE S 28,000 25,200 2,800
OXHESAHAL Es4|
20,0002 x14E %100 28,000
405 AHaHE S 3,000 3,500 A500
01 AL =S F=HI 3,000 3,500 A500
Ot 1,500,000 *2H 3,000
SETAZ AIEE 72 161,329 125,623 25,706
101 @12A4H| 129,101 103,3% 25,706
04 JIZtN2 2N S+ 129,101 103,3% 25,706
OF A JI2tM 2==(3%) 119,126
OJlzs 2,031,610 «3 * 122 73,138
Od A ZAMH| 140,000 x3& * 122] 5,040
Odcl=g 50,0002 x3& *123] 1,800
ORd+=< 50,0002 +x3& *123] 1,800
Og &SIyl 609,480 x3EH *23] 3,657
OS2 4| 74, 7203 x3E*17& 3,811
OSXEE 960,000 3 2,880
O&lx= 9,000,000 *3% 27,000
OCAUEE R JIARE= 9,975
O=gds 89,246,000 *4. 5% 4,017
(@Fakais-t= =3 89,246,000 +3.495% 3.120
OFINYEE= 3,120,000 *12.27% 383
OlsE8s 89,246,000& *1.75% 1,562
OuttiEg= 89,246,000 *1.00% 893
201 =3 22,228 22,228
01 At22t2l] 22,228 22,228
ORQUBHIAIAE AIZR
330,000& * 122 3,960
od=d=)| Zxtz
39,000 +50H~ 12 2,340
O3JIEEI| Xz
45,0002 *7CH* 122 3,780
OHMA=I| A2F 300,000 x2CH*23] 1,200
Oxad & FAES 6,000,000& 6,000
oggac|E= 2,800




SN CARBMSIEER QESAT AR
¥ SSTAME 2(Ss 2 /280=)
o SRHEMZ 28 CERE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OzEA=A| 125,0003 x82 A 1,000
O&zA=AH 90,0002 *20H 1,800
oOd23=) 3FY 16,5002 * 158 A 248
OFAM2ACIES 50,000& *305 1,500
odMEE(3E 2) 50,0002 x4Z5+23] 400
f==A2 29 187,787 143,281 44,506
U=EA2 TSES 59,309 53,564 5,745
201 Let=23 | 7,469 7,664 A19%5
01 At2teltl 7,469 7,664 A195
oxJItd= s8 3,516
O 15,000 *10JH Ab* 122 1,800
ORI 13,0003 * 114 Ak= 123 1,716
O0t3a+=H| 1,2202 %3, 2402 3,953
206 MH=Hl 3,240 3,400 A160
01 MZH| 3,240 3,400 A160
OENE2ES 3,240
ORFID TAG 50031 +3, 240K 1,620
OHHEEX 2 95 50031*3, 2404 1,620
405 AHAHE S 48,600 42,500 6,100
02 =AFbl 48,600 42,500 6,100
O&A 48,600
OgEtEA 15,000%4+3,0002 45,000
OZgretathl 15,0002 2402 3,600
WA 232208 29 22,920 14,280 8,640
201 2= 22,120 13,880 8,240
01 At22t2l] 3,500 1,250 2,250
OsSM=2AE 2,000 *500% 1,000
oM B2 2,500&*1,000% 2,500
03 A= SHI 18,620 12,630 5,990
O=AM2stZ20" 29 12,620
OZA==E
40,0002 x2A| 2++60H BH+24 2] 11,520
Osl+=9 70,0003 * 107K 700
Oonzd 2EaRE
200,000 *23] 400
OF A 2t3=2F A} 1,000,000 12 1,000
OSAMoE A 1,000,0002 %12 1,000
odg=A2A2E 1,800
Oti=2=tzz 500,000& %12 500
Oopt=zz ] 500,000 <22 1,000
OZzY 2E=3 100,000 *32] 300
o=& I8¢ 500,000 <22 1,000




SA: CABPMSSER QRSLTHB
Zu: ZREND 2U(2ALHB/2H0S)
=@t =2 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF Ot 2D 300,000& 42 1,200
301 EtE N = 800 400 400
11 #AIAMHIXIE S 800 400 400
OZ2I NAZAX SAH|
8,000 %108 %102 800
U h2 G2 23 16,750 10,815 5,935
201 2= 2,760 1,605 1,185
01 At22t2l] 2,760 1,606 1,185
oZgd &EX 220,000 =4 880
O=AD| EU 260,000 *2H 520
O=AMI| E™ 475,000 +2H 950
O=AEX 21,0003 %102 A 210
OSR2l2 HMZ AOIE etoldlA e
200,000 *1H 200
206 MH=HI 7,750 5,080 2,700
01 MHZH| 7,750 5,050 2,700
OoU=3=Es 1,750
OUsE3te 1,500 *500H 750
O2tEel= 80,0003 * 107K 800
Or==EE 10,0002 +20H 200
OCUIXNEX=4a 2 650
Osdll=At 35,0002 % 10H 350
o212 15,0002 % 10H 150
OotreA 15,0002 *10H 150
Otl2H=E 10,0002 +20H 200
OAl=g JletA 20,0002 *10H 200
O=AME+E HIOIZ 150,000 52 750
OXstEeell 9+ EX
3,000 *1002 300
O8] 40,0002 * 107K 400
OMIIE S 3,000 *500H 1,500
odJItd=8 AEIA 1,000 *500H 500
OAMJteteEd 10,0003 *150M & 1,500
301 22N 6,240 4,160 2,080
11 AALAEIXIE S 6.240 4,160 2,080
OXHESAHAL ES4A|
20,0003 x3EH 104! 6,240
U=ZA2 AIdES =2k 88,808 64,622 24,186
101 @124H| 73,903 54,027 19,876
MU IIRIMZZENSES 73,903 54,027 19,876
OFA JIZtH 2==(2%) 67,269
OglZit| 2,031,610 «2H* 122 48,759
OF A SAMH| 140,0002 x2& * 123 3,360




SN CARBMSIEER QESAT AR
Zu: ZREND 2U(2ALHB/2H0S)
SR UeEA2 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odcl=g 50,0002 x2& *123] 1,200
Ofd=g 50,0002 x2& x123] 1,200
Og&E=Itd| 609,480 x2H *23] 2,438
OA X2 4| 74,7203 x2E 162 2,392
O=NEAE 960,000 x2& 1,920
O&lx= 3,000,000& x2&H 6,000
OCAlEERE JIARE= 6,634
O=2ds 59,349,000 4. 5% 2,671
(@Fakai-t= =3 59,349,000 +3.495% 2,075
OFIIRYEE= 2,075,000&*12.27% 255
(@ME=1h= = 59,349,000& *1.75% 1,039
OttiEg= 59,349,000 1% 5%4
201 et 3| 14,905 10,595 4,310
01 Al222lH| 14,905 10,595 4,310
ORHHIAAE BH242
200,000 * 122 2,400
od=d=+I| gtz
23,0003 401~ 122 1,104
OBIIEEI| UXZ
42,0002 *4CH* 122 2,016
OMA=I| A2F 300,000 *2CH*12] 600
Oxad A FAES 5,500,000& 5,500
ogsaeES 2,320
O&A=H| 130,000 »48+ A 520
Oz A=H 90,0002 +20H 1,800
odzds)ll S5 16,5002 * 108+ A 165
OFAM22IZS(EZE 2)
50,0002 +85 400
odazZ(dE 2) 50,0002 x45+23] 400
HYPHIH(TANZBMUSISER QESTTA ) 1,823,3% 1,5%,337 227,058
= 116,040
== 58,020
Al 1,649,335
elgE3 1,309,092 1,096,080 213,012
= 116,040
=S 58,020
Al 1,135,032
QESFEMZ AR AZ2SA 176,848 177,766 A918
[ 46,416
= 23,208
Al 107,224
101 @12A4H| 168,709 156,982 1,727
[ 46,416
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SN CARBMSIEER QESAT AR
I BHSAAY|(CABEYSSED QHSLTHD)
Chel: ol CERE)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
oz2&=¢ 126,9702 x3H » 123 4,571
OFFF=2] 140,000 *35 * 128 5,040
(OFS=-Eat= 50,0003+ 12& 1,800
OEARY 50,0003 3« 12& 1,800
OsE=< 1,440
- <Xt 40,0002 2«12 960
-JIEPLS 20,0002 2~ 123 480
Oz 179,400& 3% » 12 6,459
OZEEFOHI 1,269, 7303 *3H *23| 7,619
OHIHE &M 95,680 *3Y 20 5741
N HAzREIS 14,371 14,113 258
04 SR (RIIHL) 22X BEERE23 S 14,371 3,408 10,963
O4UEE D= 14,371
Oo=ga%3 128,591,000 *4 . 5% 5,787
OAHZEH 5,047
HAEE= 128,591,000 *3.495% 4,495
-HIIRLEEE 4,495,000&*12.27% 552
OLELNEE 3,637
1828 = 128,591,000& *1.75% 2,251
MW EE= 128,591,000 * 1% 1,286
FRATAZ AR HERY 145,856 137,633 8,223
= 34,812
= 17,406
Al 93,638
101 QI24t| 130,922 121,619 9,303
s 34,812
= 17,406
Al 78,704
03 SR (RIHL) 22X ES 130,922 121,619 9,303
OHITAZ HZAIZIHE B2 E 130,922
oJlEs 2,656, 1402 x3B x 128 95,622
s 34,812
& 17,406
Al 43,404
o2& 132,800&x3H x 122 4,781
O&EH¥Z A 140,000& x3H * 12 5,040
O¥dA=Y 50,0002 +3E+ 123 1,800
OS2 50,0003+ 12& 1,800
ONE= 1,200
BN 40,0003 2« 128 960
-JIEPIS 20,0003 x 1« 12& 240
o= 186,900 x3H 122 6,729




SN CARBMSIEER QESAT AR
B HESAAY|(CHBPMSSER QESECAD)
chol: ol (ool )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OZEZOtY| 1,328,070& x3H +23| 7,969
OdItE 4| 99,680 *3H 20 5,981
M AIRE3S 14,934 13,614 1,320
M SR (RIAHN) 22X BEa84=2 S 14,934 3,288 11,646
O4HEE JI&ARES 14,934
o=ad3 133,622,000 *4. 5% 6,013
OHLEH 5,245
-2HABE S 133,622,000 x3.495% 4,671
I QYEER 4,671,000&%12.27% 574
OLELMNEE 3,676
-NESBE= 133,622,000 *1.75% 2,339
“~IHEE =S 133,622,000 * 1% 1,337
ik sl 846,126 633,004 208,122
101 2124 d| 759,363 563,705 195,658
03 SRH(RINHS) 22X 2+ 759,363 563,705 195,658
OANBRE B=(LIZ2 1688) 46,264
OPIE=1= 2,824,802 x1F+ 122 33,899
o2ssY 141, 2403 19+ 12&8 1,69
(@FSELI=Eaa] 140,000 x1H* 123 1,680
O&dd=+4 50,0003 x 1+ 12& 600
O=Ex&RE 50,0003« 1H 123 600
OJEsY 480
i BN 40,0003 =18+ 12&3 480
Ox=2=Y 197,800 x1H» 123 2,374
OZESOt| 1,412,440 18 +23| 2,825
OdItE 4| 105,520 1H 20 2,111
oYY E4(0Z2 952) 713,099
OPIr=t= 2,383,202 x18H x 12& 514,927
o254 119, 1902 x 18« 122 25,746
OF Mz A 140,000 *18H * 12& 30,240
O&eise 50,0003 *18Z *12& 10,800
OS82 50,0003 *18&*12& 10,800
@) ==t 8,640
- <kt 40,0002 10H + 123 4,800
B PIES 40,0003 «8F 12 3,840
Ox=222Y 169,200 *18H + 12& 36,548
OZEFOt| 1,191,960+ 18 23| 42,91
OdItE 4| 90,2403 * 18 x20 32,487
M HAFRE3S 86,763 63,099 23,664
M SR (RIAHN) 22X BEa284=2 S 86,763 15,236 71,527
O4HEE JIARES 86,763
o=3ad3 776,463,000 *4. 5% 34,941




SN CARBMSIEER QESAT AR
M HHSAAL(CARBYSEZR QHSLTAD)
chol: ol (19 @)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
@Fal gt 30,468
-HYEE= 776,463,000 +3.495% 27,138
-HIIRYEEE 27,138,0002+12.27% 3,330
OLELHES 21,34
-IE2EE 776,463,000 %1.75% 13,589
—MIHEE= 776,463,000 * 1% 7,765
Jl=2dsl 514,303 500,257 14,046
JI=2&Hl 514,303 500,257 14,046
201 L= 466,363 423,577 42,786
01 AF22t2ltl 60,587 38,321 22,266
oJl=ge LBy
500,000& 34 17,000
o=zgt(01E2Hl)
8,000 x44H 8L« 12 33,792
OFEZE II=H| 6,400
O=2R=(28) 240,000& %10 2,400
Oogst=s S 38 400,000& %10 4,000
O=AMI| El 260,000 *2H 520
O=AD| E™ 475,000 *1H 475
O=AD| gtz 200,000 122 2,400
02 324l 405,776 385,256 20,520
OZAIARS 950&#5,250m « 122 59,850
oRERS 4,650
oget 4003 1,0008 400
OSYI 2,500 +500= 1,250
04 % 5, 00021560004 3,000
oNIIR3 264,528
oJlzes 6,370 +200KW+6IH A+ 122 91,728
OAsEes
10023 %24, 000KW+GIH 2+ 122 172,800
ouslaER3
2,670 *380m +6IH A+ 122 73,052
OXtsxEE 800,000 *1CH 800
OXIS XAl 100, 0002 »1CH 100
oRdYs= 18,0002 «61 A+ 123 1,296
ORI eI 1,500
O&I|Xt 1,500,000 *1CH 1,500
202 044l 40,800 27,600 13,200
01 =LHA LI 40,800 27,600 13,200
OJ|1=&H| 20,0002 x34B x5« 12 40,800
203 gR=8| 7,140 7,080 60
M RFAZSLRFAI 7,140 7,080 60
OJ|=H 7,140
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SA: CHRBMSISER QBTN

B ZRC AP 29
Helr 2EEMS 24 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2

SN MSISER QLEE M2 3,926,299 3,717,776 208,523
= 158,704
T 132,250
Al 3,635,345

SN2 2H 1,981,035 1,792,068 188,967
& 52,898
Al 1,928,137

EENE 23 630,545 583,037 42,508
T 52,898
Al 577,647

SN2 2SS 159,253 149,803 9,450

201 B2 AY| 62,613 53,683 8,930

01 A=R2teld| 62,613 53,683 8,930
OETAMZ FII2HEE A= 17,848
(OFES=IN| 15,0002 * 18I Abx12E 3,240
OXIX] 13,0003 * 150 At= 123 2,340
O==2+X] 5,000& * 110 Ab+523= 2,860
O&ZtX 11,0002 #4400 Ab+ 123 5,808
OFXIZ 30,0003 105+ 12& 3,600
ONMITAZ =32 2= 8,668
O==2tX] 5,000& * 110 Ab+523= 2,860
O&2HK] 11,0002 x4400 At+ 12 5,808
OSET A& FE2H 2= 8,668
O=F2tX 5,000& * 110 Abx52== 2,860
O&2HK] 11,000 #4400 Abx 122 5,808
Ot M2 =X A= 2,483
O=2HX] 5,000 *5IH Atx523= 1,300
O&2HK] 11,0002 *QIH Abx12E 1,188
OZUHEAZ =32 2= 4,452
O==2tX] 5,000& *9IH Atx523= 2,340
O&2HK] 11,0002 * 161 At+12& 2,112
OSSN AZ FE2HX 2= 4,452
O=F2tX 5,000 *9IH Ab*523= 2,340
O&2HK] 11,0003 #1670 At=12E 2,112
QIilI2=T A& 2K F= 8,663
=24 5,000& * 110 A+523= 2,860
O&2HK] 11,0002 #4400 Ab=12& 5,808
O0t2a 7=l 1,2203%6,040H 7,369

206 =4l 6,040 7,120 A1,080

01 =l 6,040 7,120 1,080
O=NE2ES 6,040
ORFID TAG 5002 %6, 04004 3,020




SH: CARBMSIEER QAT A
Y ZTZCAB 29
e 2EEME 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OctaZXs 105 500 +6,040H 3,020
405 KHaHF S| 90,600 89,000 1,600
02 =M=l 90,600 89,000 1,600
Ox=A 90,600
OgEte N 15,0008 5,200 78,000
OXgletetM = A 15,0002 8402 12,600
ETNE B2 Y 2 76,370 69,238 7,132
201 er23 | 72,370 63,738 8,632
01 At2teltl 8,750 6,300 2,450
O=AMzl 28 M= 19,0003 » 150 2,850
OSA=2ZE 2,000 750 1,500
oA E2= 2,000 +1,000% 2,000
Oz &9 cloldA 2
300,000 +8H 2,400
2 35234l 3,300 1,878 1,422
OMEESsTFAHAAY FX2telb]
275,000 x 122 3,300
03 &A=& 60,320 55,560 4,760
O=sSA2EZ2IHE 2 27,560
OLA=g
40,0003 <2A[ 2x 18I 2+ 123] 17,280
OxMeggss+a 29
40,0003 <2A| 2H+43]x 123 3,840
OS2t M 70,0002 = 127K 840
O=& &8¢ 500,000 *42] 2,000
Oonzd 28 =3 300,000& * 122 3,600
CEVENEIREESS 4,260
OsHE +g
40,0003 #2A[ 27 JH BH+63] 3,360
OEEE TA+Y 15,0003 65+ 102 900
OQI2st HAEIE 21,000
Oel2st HIAEIE JHZ
20,000,000& *13] 20,000
o=z =243 500,000 22 1,000
o=zt A= & 450,000 *42] 1,800
O A 2t=2+ A} 1,000,000& *12] 1,000
O=A2AL A 900,000 12 900
OSHA0IH &d Z2 ™
300,000 62 1,800
oO=sNBL 2,000,000& %12 2,000
203 g4l 2,000 2,000
03 A=A =] 2,000 2,000
O=A2 AR 2,000,000& 2,000
301 EtE N = 2,000 2,000 0




2A:

SHRHMSSRE QBT AR

B ZRC AP 29
Chel: @EEN2 2Y EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
11 HAAHIXIE S 2,000 2,000 0
O=stZ2 e NJASAHAL =]
8,000 x10Y 253 2,000
ETAS A=2ESHA 2 22,268 23,340 A1,072
201 Lt | 5,878 5,600 278
01 At 22|l 3,550 3,350 200
O AME 0l32tY 2IEA
2,000&*1,000% 2,000
ON= TAZUS &It
100,000&*10H*12] 1,000
OX=2e|?AR3 MAE
100,000& *1H*23] 200
OXASAMA 228 23 15,0002 10 150
ORIZ2 HZE AOIE 2tojdlA 2l
200,000 174 200
02 324l 2,328 2,250 78
OgRY=3 2,328
Ost=EA2(23) 390,000 x1JH 2t 390
Os=EA2(33) 123,000 6K 2 738
OB3EAZ(BS2) 300,000 1042t 300
O33N (CE2) 150, 0002 *6IH 2 900
206 =8l 10,680 13,580 22,900
01 =l 10,680 13,580 A2,900
o=E=3S 4,300
OUsEIte 1,500& *2,0004 3,000
Ooteel= 80,0003 152 1,200
odlle3az2u 10,0002 %102 100
oMt SHE 3,000 %1004 300
OZAN B8 HI 150,000& x22 300
OFRFID TAG 28 5002 *1,0000H 500
OXsUELE)| I8 X
3,000& 1002 300
OAI=8 I8 A 20,0002 2074 400
OXtZ A AFRIAIAE 100,000 *407H 4,000
OXtz4 PC 2% A 580
OdllEAl 35,000 8K 280
o212 15,000& * 10K 150
ootRA 15,000& * 10K 150
301 LB F 4,160 4,160
11 SHAIAHIXI &2 4,160 4,160
OXHAS AR 2 s4lt|
20,0003 +2E+104 4,160
405 Kt SHI 1,550 1,550
01 ML =SEFSHI 1,550 1,550




SH: CARBMSIEER QAT A
B ZRC AP 29
H?Hel 2EH2 2 (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSNEZI 1,550
O3&01828J] 560,000+ 1CH 550
Ostpigs ATEOf
1,000,000 *1H 1,000
3 00l =E 3R0ISARS 264,490 264,490 0
< 52,898
Al 211,592
201 er23| 81,110 83,610 22,500
= 16,222
Al 64,888
01 At2teltl 26,000 36,300 10,300
O"gA=ZE 25,000
o2 & 2,000 8,000H 16,000
s 3,200
Al 12,800
oYy EU2E M
8,000& *1,0000H 8,000
= 1,600
Al 6,400
oSzl 10,0002 %1002 1,000
= 200
Al 800
O HEFAS| HASE
100,000 +5& 500
== 100
Al 400
OIMUE 018 HESAS=Y)
500,000 *15 500
=S 100
Al 400
03 A2 I 55,110 47,310 7,800
onagsIt |54 2,600
OXNHESIHH W= 80,000& *202] 1,600
= 320
Al 1,280
OX2gsit /138 € 2483
500,000 22 1,000
== 200
Al 800
Ousozdl 2 43,300
ORZu=s A2t 2
500,000 *32 1,500
= 300
Al 1,200




SA: CHRBMSISER QBTN

B ZRC AP 29
ool QAT AT 2% (crol: m2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OX=0l =2
80,0003 202 £+202] 32,000
== 6,400
Al 25,600
Oss=0ts0tel S&
80,0002 *10=] 800
= 160
Al 640
OXM=0] 2208 23 M=HI
200,0003 #2022} £H+23] 8,000
== 1,600
Al 6,400
O&&=0ts0tel 22 M=l
1,000,000 1,000
= 200
Al 800
ONEIEHEAEH N
9,210,000& %12 9,210
= 1,842
Al 7,368
206 =4I 168,000 168,000 0
S 33,600
Al 134,400
01 M=l 168,000 168,000 0
O30 L& 168,000
O&A 10,000 22 +6, 000K 120,000
= 24,000
Al 96,000
Ot 8,000& 6, 00004 48,000
S 9,600
Al 38,400
301 2 &= 15,380 12,880 2,500
< 3,076
Al 12,304
11 HAIMHIXI R = 15,380 12,880 2,500
OgA2E N SAHL SEHI
8,000 %30 x123] 2,880
== 576
Al 2,304
OXA&SIt Aldl X2
20,0003 x25H 253 12,500
= 2,500
Al 10,000
LEEME AIdSRX 2] 108, 164 81,166 26,998
101 e124d| 87,903 58,096 29,807




SH: CARBMSIEER QAT A
B ZRC AP 29
&t EENE 29 EEED
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
M IIZtHZ22SE 87,903 58,09 29,807
OFA FEX E 81,269
OoJlEg= 2,031,6102 2122 48,759
OZAHZ A 140,000& 2B+ 122 3,360
O&eise 50,0003 x2H 123 1,200
O M 50,0003 x2H 123 1,200
OYE St 609,480 2 *23| 2,438
OS2 4| 74, 72032+ 16 2,392
O=XEQIE 960,000 x2H 1,920
O&l&Z 10,000,000 *2H 20,000
o4 E8s I = 6,634
o=gao3z 59,349,000 *4 . 5% 2,671
OHLEE= 59,349,000& *3.495% 2,075
OMINQAYEEZ 2,075,000 *12.27% 255
(@IE=35k=: 1= 59,349,000 *1.75% 1,039
Ot HEE = 59,349,000 * 1% 594
201 Lt | 20,261 22,190 21,929
01 At 2telt] 19,191 21,160 1,969
OR013H| AIAE 260,000& =123 3,120
od - 20| Xtz 37,0003 #4CH* 123 1,776
O3J/18&)I| edxtz
40,0002 *10CH+ 122 4,800
O<IEW=H| 2,065
O3371& A2otM 22| X}
200,000 *7H 1,400
Os&)| etz 30,0003 *7H 210
OLrH ot E M =Kt
65,00024+7% 455
OB A2ACIES 50,0003 *5Z*23] 500
Ost&s & HAE
100,000& x5+ 122 6,000
od -2 =53 16,5002 x208F A 330
OHMAS)| AZE ¢ 300,000& *2CH 600
02 33244l 1,070 1,030 40
OAgorMae |3l 50,0007 350
og2gsl| sA&eY|
60,0003 = 1CH* 123 720
NAEAZ22Y 309,637 267,246 42,391
NEEAS R2ES 88,674 44,160 44,514
201 Let2| 13,474 3,660 9,814
01 Ar2eltl 13,474 3,660 9,814
o&EII¥E 7= 5,580
(OF3I9N 15,000 x 18I0 Ak+12& 3,240




SH CARBMSEER QET AP
NI DDCAD 2Y
ciel: JECHZRY CCHRED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OXIX] 13,0003 * 150 At=12& 2,340
OVDAHIA ALE= 180,000« 12& 2,160
O0ta7=H| 1,220 %4, 700 5,734
206 =4l 4,700 3,000 1,700
01 =Yl 4,700 3,000 1,700
OZNE2ES 4,700
ORFID TAG 500 *4, 70094 2,350
ot EXs 103 5002 %4, 70004 2,350
405 XHobE S| 70,500 37,500 33,000
2 EA7I 70,500 37,500 33,000
O%A 70,500
Ogete A 15,0002 *4,000 60,000
OHZBHEEHIE A 15,000 *700& 10,500
NASAZ B2 29 62,800 21,560 41,240
201 B2 AH| 62,000 21,560 40,440
01 AtR2telt] 14,000 4,000 10,000
OSAHL2AE 2,00024%1,000% 2,000
O 18 EXA2 EE=
4,000& *2,0002 8,000
O™ XAME MIE 20,0003 x200% 4,000
03 @At2ZH| 48,000 17,560 30,440
OSMIIEZ N 29 23,700
O A=Y
40, 0002 *2 A1 2H=2001 BH+ 123 19,200
OEAdItE N 70,0003 %1004 700
O=&&II8¢ 500,000 *43] 2,000
omz0Y 2% 22 300,000 62 1,800
OosAMs0tel §4 4,100
O=HE =Y
40,000& *2 A1 2H201 BH+203] 3,200
OEEs TH&7Y 15,0003 * 125 +53 900
OEg2AM=Y 3,000
OelzExd 500,000 & *63! 3,000
O=7dI0Ie &4 Z20H
300,000 »63! 1,800
O Ma2t=2h A} 700,000& *13 700
O=MAY AL 700,000&*13] 700
OMIH 24 10,000,000 %13 10,000
OTHMHZ J1E A} 500,000 +83| 4,000
301 LetENZ 800 800
11 HALAHIXIE S 800 800
OZSEZ 1 HASAHR S|
8,000 *10Z 102! 800




M E

Y ZTZCAB 2
el MAEN22S EER=E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
NEEAS Azged 29 24,885 10,380 14,505
201 L2 | 2,170 2,060 110
01 Ar22eltl 2,170 2,060 110
ORIZ2 HZE AOIE gtojdlA 2¢)
200,000 *174 200
OXZelH &Y 220,000 *87H 1,760
O=AEX 21,0003 10 A 210
206 M= 4l 6,075 6,075
01 M=l 6,075 6,075
oH=zdS 2,400
OU&E3t= 1,500 *1,0000H 1,500
OJteelz 80,0002 102 800
OslE=32IH 10,0002 =104 100
OMItE SHE 3,000& %504 150
OENE+ES 800
OZNE=E HOIZ 150,000 x22 300
OFRFID TAG(E=&) 5002 *1,0000H 500
OXtstisLd)| S+ X
3,000& 2002 600
OXtZ A AFRIAIAE 100,000& 1074 1,000
OXt=4&! PC2Z AHM 325
OdleAt 35,0002 *5I4 175
O2I18E 15,0003 *5H 75
OnteA 15,000 & *54 75
O 2| 40,0002 =204 800
301 LEHBEF 16,640 8,320 8,320
11 HARHIRIE S 16,640 8,320 8,320
OXHAS AR 2SS4l
20,0002 8 104 16,640
NRAEAZ AdESRX2el 133,278 66, 146 67,132
101 QI24t| 87,903 58,096 29,807
M IIHZ22SEs 87,903 58,09 29,807
OFEA EEA B 81,269
oJlz= 2,031,6102 =2« 12& 48,759
O&ENAZAHI 140,000 x2H+ 122 3,360
O 50,0003 =2« 12& 1,200
ORIl 50,0003 x2H 123 1,200
OYGE St 609,4802 x2H *23| 2,438
OHItE 4| 74, 72032+ 16 2,32
O=XELIE 960,000& x2H 1,920
OISR, 10,000,000 x2H 20,000
o4 B8 JIARYS 6,634
o383 59,349,000& x4 5% 2,671




M E

LR ot
el MAEN22S EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OHLEE= 59,349,000 *3.495% 2,075
OIIRAEES 2,075,000 *12.27% 255
(@ME=1h=: 1= 59,349,000&*1.75% 1,039
OtNEE = 59,349,000 * 1% 54
201 L2 AH| 23,375 7,170 16,205
01 AtR2eltl 23,375 7,170 16,205
OR01EH| AIAE 420,000& 122 5,040
Od - 20| Xtz 35,0003 «6CH* 123 2,520
O3J188J| dxt=z
45,0002+ 130h* 122 7,020
OHTA U HABE
100,000& 65+ 12 7,200
OFN&2IEZ 50,0003 *55*23| 500
od - 20| &4 16,500 #3024 A 495
OMA=)| 2BF F 300,000 *2CH 600
405 RHaHE=H| 22,000 830 21,120
01 ML ZSEFHSHI 22,000 880 21,120
og=2gs)l 22,000,000 *1CH 22,000
SHEA2R2Y 339,775 298,531 41,244
SHEAZ USESE 86,514 85,515 999
201 B2 AY| 11,314 10,995 319
01 AtR2telt] 11,314 10,995 319
QFIIZtd=E F15 5,580
(OFESIN| 15,0003 180 122 3,240
OXEX 13,0002 x 1501+ 12& 2,340
O0t3a+=H| 1,220 %4, 700 5,734
206 =8l 4,700 5,520 A820
01 =l 4,700 5,520 AB20
O=MNEel 23 4,700
ORFID TAG 5002 %4, 70004 2,350
oteEXs 103 5002 %4, 70004 2,350
405 RHaHE=H| 70,500 69,000 1,500
02 A7 70,500 69,000 1,500
OTM 70,500
OdBtE M 15,0003 *4,0003 60,000
OZgEtEt M E A 15,0002 700 10,500
SEHCMA Exz0d 29 48,800 64,775 A15,975
201 B2 AY| 48,000 43,975 4,025
01 AR2teld| 3,000 3,000 0
O=SAN2HE 2,000&*1,0008 2,000
SAE EES 2,000 *500% 1,000
03 A2 G| 45,000 40,975 4,025




M E

mm: zzchE 2y
ool SHCAA2Z (e &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OSMIIEZ NS 29 23,700
OZ A=< 40,0002 *2A1 2++2001* 102 16,000
OZdItE MZ 70,0003 * 1004 700
O=3 I8¢ 500,000 %53 2,500
OBAM=HZA 1,000,000 +33] 3,000
OZz0d 29 =28 300,000 *53 1,500
O=AM=0tel 54 2,300
O=sdE =4 40,0002 #2A1 2tx103] 800
OEEEs TH&7Y 15,0002 x205 53 1,500
OSgLA=L(2I2EY)
500,000 *33| 1,500
O M &t==2F AL 1,000,000& *13] 1,000
O=sM2AY AL 1,000,000 *12] 1,000
O=ANAZ 1,000,000 *12] 1,000
SHA0H 24 T2
300,000 *63| 1,800
OUHIOIHAHOIA 2 12,700
O A=Y 40,0002 *2A1 290 *102] 7,200
OXZ2d W7 =<
500,000 *73] 3,500
Os2s & 2,000% *1,0004 2,000
301 LPENZ 800 800
11 HAIAHIXI A2 800 800
O=EZ N NHIAS AR S|
8,000& 10 *103] 800
SEHENS N=gEa 29 33,215 39,848 6,633
201 Ler23H| 3,130 1,530 1,600
01 AtR22elt] 3,130 1,530 1,600
omgH &4 220,000 =104 2,200
O=AJ| ElH 260,000 =24 520
OSsANEX 21,0003 #1102 A 210
OKQ2I=2 HZE AOIE clojdlA 22l
200,000 14 200
206 M= 4l 16,725 17,400 AB75
01 =Yl 16,725 17,400 ABT5
oH=zdS 5,800
OUEIt= 1,500& 2, 4004 3,600
O2tEel& 80,0003 *25= 2,000
OdllE32u 10,0002 x20= 200
oAt SHE 3,000 *4004 1,200
O=MN 28 HE 150,000 *202 3,000
OXtstELrED| 95 X
3,000 =400 1,200
OXrZ &l AFQIAIAE 100, 0003 404 4,000




M E

g zecAe 2y
el SHEM2EY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXtz4d PC2E It 325
Opfl=4t 35,0002 *5H 175
o312 15,000 +50H 75
OofteA 15,0002 +50H 75
O8] 40,0002 *30H 1,200
301 LB 10,400 10,400
11 AR 10,400 10,400
ORAZAT B4
20,0002 x6EH*104 10,400
405 AtaHE = 2,960 10,518 AT,558
01 MM ESFH S| 2,960 10,518 AT,558
OSSNz 013 Xt
148,000 +20H 2,960
SEHT N AIZEEFAI2 171,246 108,393 62,853
101 @124H| 131,851 87,143 44,708
M ORINZZENSE S 131,851 87,143 44,708
o4 =Y 25 121,902
OoJlzs 2,031,6102 3% ~12& 73,138
OZH=AHI 140,000& 32+ 128 5,040
O&e+g 50,000 x3& * 122 1,800
Od=g 50,0002 x38 * 122 1,800
Og&ESItd| 609,480 x32 +23] 3,657
OSXZEIE 960,000 3 2,880
OgIt=2 4| 74,7203 %38 162 3,587
Ol A= 10,000,000 3% 30,000
OISR JI2RY= 9,949
Oo=gg=s 89,022,000& 4. 5% 4,006
(OFafe gt 1= 89,022,000 +3.495% 3,112
OIWIRLESE 3,112,000& *12.27% 382
OLNs=Ess 89,022,000 *1.75% 1,558
OttiEg= 89,022,000 * 1% 891
201 er23| 18,935 20,370 A1,435
01 AtR2t2|HI 18,935 20,370 A1,435
ORI AH| AlIAE 250,000 x 122 3,000
od - 27| Zx=z 30,000 ~40H =122 1,440
O3JI¥8)| itz
45,0002 *10CH* 122 5,400
OFAM2ACIES 50,0002 x8 523l 800
Ost&3d & B4 ES
100,000& 65+ 123 7,200
od - 2)| S&F4 16,5003 *308+ A 495
OHMA=I| A2F 7Y 300,000 <2CH 600
405 KHaHF =4I 20,460 880 19,580




SH: CARBMSIEER QAT A
B ZRCAB 29
el SHEM2EY (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
01 TR ESF SHI 20,460 880 19,580
oolIsktE M=% 6,670,000 34 20,010
OXAE 2kt 450,000 17K 450
MESEM2A2E 98,591 R,472 6,119
CESTAS N=EE 36,276 35,692 584
201 =3 4,276 4,642 N366
01 AtS2t2ltl 4,276 4,642 A366
odIRtd=E 7= 1,836
OsX 15,0003 x40~ 123 720
OXIZX 13,0002 60« 122 936
Ootsel=2 5,000 *3H =128 180
oita =l 1,2203 2,000 2,440
206 =4I 2,000 2,300 A300
01 M=4l 2,000 2,300 A300
O=AMEeIEE 2,000
ORFID TAG 5002 +2,0007H 1,000
OHeEEXNS 105 5002 *2,000H 1,000
405 KHAHF SH] 30,000 28,750 1,250
02 =AMl 30,000 28,750 1,250
(OEN 15,000& 2,000 30,000
HESEA2 222 23 27,480 24,580 2,880
201 Zet2& ] 26,500 23,620 2,880
01 AtR2telbl 1,200 1,200 0
OsSA=2AE 2,000& +600% 1,200
03 AH2 I 25,300 22,420 2,880
O=AM2stZ20" 29 17,660
O2A=E 40,0002 x2A| 2k+ 150 122] 14,400
Sciote M= 70,000 +8H 560
O=d &8¢ 600,000& *32 1,800
OoZzY 249 =23 300,000 +32] 900
O=ANS0tel |4 640
OSE =g
40,0003 x2A1 2t 1JH+82] 640
OSELAE(UESY)
500,000& 4=l 2,000
O AM2tZ=2t AL 1,000,000& %12 1,000
OSAeE A 1,000,000& %12 1,000
OV E R 1,000,000& %12 1,000
OO0Igl0le A 2,000,000& %12 2,000
301 LtENZ 960 960
11 HAIMHIXIZE S 960 960
O=stZ2 18 N SAHA S
8,000 10 » 122 960




2A:

0]
ok
H
>
il

Y ZTZCAB 2
e AESENEES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
HESEAS N=EEA 29 23,490 19,955 3,535
201 er23 | 1,945 1,710 235
01 At2teltl 1,945 1,710 235
oZegH &4 220,000 *4H 880
O=ADl &l 260,000 *1H 260
O=AEX 21,0003 +58r A 105
O=ADl E™ 500,000 1K 500
OSRQ2I= M= AOIE 2tolala 2
200,000 *1H 200
206 M=l 5,175 5,675 A500
01 M=4l 5,175 5,675 A500
ots=as 2,350
Oousste 1,500 «800H 1,200
Odteel= 80,000 *132 1,040
Or == =5 10,000& 112 110
OMIIE S 3,000& «60H 180
OkAN 2+ H 150,0002+52 750
OXtZ A AFRIAIAE 100,000 * 10H 1,000
OoXtsUsee)l I+=E&X
3,000& 1002 300
OX=4 PC 2 A 195
Odll=At 35,0002 *3H 105
O2IEE 15,0002 *3H 45
OolteL 15,0002 *30H 45
oxze| 40,0002 *10H 400
301 EtE NS 8,320 8,320
11 #AIAHIXIE S 8,320 8,320
OXHESALAL 2s4|
20,0002 x4 =104 8,320
405 AHAHE S 8,050 4,250 3,800
01 AL =S F=H 8,050 4,250 3,800
=& MIHEH) 7,500,0008« 1M 7,500
033012287 550,000 17K 550
SAESEAS AIEdE=A2c 11,365 12,245 2880
201 er=23y| 11,365 11,365 0
01 AtR2t2|HI 11,365 11,365 0
OSldHl AIAE 250,000 x 122 3,000
od - 27| Zx=z 25,000 x3CH =122 900
O3JI¥8)| itz
45,0002 #5CH* 122 2,700
OFAM2ACIES 50,0002 «8S5*13] 400
Ost&3d A B4 ES
100,000 x35+ 122 3,600




M E

Mm: ZICHE 23
e AESENEES (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
od - 25| SFH 16,5002+ 102F A 165
OHMA=I| A2F FY 300,000 <2CH 600
ZUHEAS =24 117,379 110,191 7,188
FUAS H2EE 53,879 43,291 10,588
201 fer= 3| 6,839 6,571 268
01 At 2|l 6.839 6,571 268
oIt = F= 3,252
OS2l 15,0003 x120H= 123 2,160
OXIgX 13,0002 70122 1,092
Oota+=HI 1,2203 2,940 3,587
206 =4I 2,940 2,720 220
01 M=4l 2,940 2,720 220
O=AMECIEZ 2,940
ORFID TAG 500 *2, 940K 1,470
OctaZXs 105 500 *2, 940K 1,470
405 KHaHF S| 44,100 34,000 10,100
02 =M=l 44,100 34,000 10,100
Ox=A 44,100
OgEte N 15,0008 %2, 700 40,500
OXgletetM = A 15,0002 x240& 3,600
ZUEAZ 2stE208 29 30,860 29,160 1,700
201 er23 | 29,900 27,560 2,340
01 At2teltl 4,000 4,000 0
OsSA=AE 2,000&+1,000% 2,000
oAt EE= 2,000&*1,0002 2,000
03 &A= 25,900 23,560 2,340
O=NESEZIH 2 18,440
OLA=g
40,0003 x2A1 2H18JH B+ 123 17,280
OSlizte 70,0002 *8H 560
Oonzd 238 =3 300,000 22 600
OFEFAFANSEZ I 1,800
OLA=g
40,0003 x2Al 2Hx2JH Hx102] 1,600
Oonzd 238 =23 200,000 %13 200
OSAS0el SHE =&
40,0002 #2A[ 2hx1JH BE+73] 560
OSELAMFE(UESY)
500,000& *22 1,000
O A2t3=2F A} 800,000 12 800
OsAog A 800,000 12 800
O=NBL 1,000,000& %12 1,000
O=RdolE MHIA 500,000& %12 500




2A:

SHRBMSERSY QST AR

=

B ZRC NP 29
ool ZUHEM2 24 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=Zdl0lA 1,000,000 %12 1,000
301 EtE N = 960 1,600 A\B40
11 #AIAMHIXIE S 960 1,600 2640
O=2tZZ I A2 SAHA =&l
8,000 63 +203] 960
UM NS EEY 2 18,040 22,260 N4,220
201 2= 1,770 1,530 240
01 At22t2l] 1,770 1,530 240
oZgd &EX 220,000 5H 1,100
O=AD| EU 260,000& *1H 260
O=ALEX 21,0003 %102f A 210
OR2lE M= AOIE 2toldlA e
200,000 *1H 200
206 M=l 7,250 8,250 21,000
01 M= H| 7,250 8,250 21,000
OlEAS 2,150
Oousste 1,500& 1,000H 1,500
Odt=el= 80,0002 +72 560
Odl=3aeH 10,0003 %92 0
OAIIE SAHE 3,000 *300H 900
O=AN 2+E H 180,000 x2& 300
OMsUEEE)| =5 EX
3,000& 1002 300
OAI=E JIgA 20,0002 *10H 200
OXtZ A AFRIAIAE 100,000 +20H 2,000
OXMz4d PC 2 XM 500
Osdll=At 35,0002 % 10H 350
OIEE 15,0002 504 8
OotreA 15,000 +50H 75
O8] 40,0002 * 107K 400
otlzH=E 10,0002 *50H 500
301 LEtE N = 8,320 12,480 24,160
11 #AIAMHIXIZ S 8,320 12,480 A4,160
OXESALAL 2s4At|
20,0002 x4 =104 8,320
405 KHaHE SH] 700 700
01 Tt =S F=HI 700 700
O=EH™ 350,000 x2H 700
ZUE A2 AIEEFK2 14,600 15,480 A880
201 er23 | 14,600 14,600 0
01 At2teltl 14,600 14,600 0
ORIl AIAE 200,000& 12 2,400
od - 2=J|] gX= 30,0008 *3CH* 12 1,080




2A:

SAHRHMSERE QBT A

il

B ZRC NP 29
o ZUHENZ 2 (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O3J18&EI| dxt=z
45,0003 «5CH =128 2,700
OMSI Xtz 50,0002 = 1CH+12& 600
odldl gxi= 30,0002 =4CH+12& 1,440
oFAB2ISE 50,0002 485+ 13] 400
OHTA U HABE
100,000& x4 S+ 12 4,800
od - 20| S&H 16,5002 #2024 A 330
(OFSFST fel p== 50,0003 x5 *13| 250
OH;A=I| A2E 7 300,000 *2CH 600
SMEA22Y 127,617 119,974 7,643
SMEAS A=2ES 41,309 39,831 1,478
201 Ler2| 5,469 5,811 N342
01 Ar22eltl 5,469 5,811 A342
O&FII¥E 2= 2,736
Oos2X 15,0002 100412 1,800
OXIg X 13,0003 *6o* 123 936
O0ta+=H| 1,220&%2,240¢ 2,733
206 =8l 2,240 2,520 2280
01 M=l 2,240 2,520 A280
O=NE2ES 2,240
ORFID TAG 5002 *2, 24004 1,120
OcteEEXS 105 500&+2, 24004 1,120
405 KHHE SH| 33,600 31,500 2,100
02 ALY 33,600 31,500 2,100
O&A 33,600
ABIE A 15,000 *2,0003 30,000
OZgtEtEt M E A 15,0003 x240 3,600
SMEME EE208 29 24,100 21,330 2,770
201 L2 | 22,200 20,530 1,670
01 At 22|l 4,000 4,000 0
oOsSNE2AE 2,000&*1,000% 2,000
oM EE2 2,000&*1,000% 2,000
03 @At2EH] 18,200 16,530 1,670
OSMNIIEZ NS 29 12,830
OZ A=< 40,0002 *2A1 2tx 130 x 123 12,480
OZItE FMZ 70,0002 *5I4 350
O&FEEHNAANSEZOY 2,770
OZ A= 40,0002 2 A1 2H301 %103 2,400
OZHIHE MZ 70,0002 * 14 70
OE2d 29 =25 300,000& *13] 300
OSg2AH(UZEL)
500,000 *23| 1,000




M &

mE: 2
&t SHEA2ESE (SH9 H2)
SA - B SRIBH) - MRAR - BAS A HIDEZ
O A2t3=2+ A} 800,000 12 800
O=MAL A 800,000 12 800
301 EetE2 NS 400 800 A400
11 #AIAHIXIE S 400 800 2400
O=23Z2 8 NHESAA S|
8,0002 %58 x102] 400
405 AHAHE S 1,500 1,500
01 ML ESFH= 1,500 1,500
LES 1,500,000 *1CH 1,500
SMCNS NS 9,975 19,265 29,290
201 Let=23 | 1,770 1,530 240
01 AtR2te|Hl 1,770 1,530 240
oxZgH &U 220,000 *5H 1,100
O=ADl &l 260,000 *1H 260
O=AEX 21,0003 *102f A 210
OSRQ2I= M= AOIE 2tolla 2
200,000 *1H 200
206 MH=H| 4,045 4,595 A550
01 MZHl 4,045 4,595 AbB50
OU=3ES 1,650
OUsEst= 1,500 «800H 1,200
OJteel= 80,0002 +52 400
On == =5 10,0002+52 50
OMIIE S 3,000 «200H 600
OZA 248 HI 150,000& 22 300
OXsUEe)l =5 EX
3,000&+502 150
OAEE JIgA 20,0002 *5H 100
OXtS Al AFRIAIA 100,000 *3H 300
OXz4 PC 29 325
Onofl=4t 35,0002 *5H 175
O212E 15,000 *5H 75
OobtA 15,0002 574 75
oxze| 40,0002 *34 120
otzH=& 10,0002 *50H 500
301 22N = 4,160 6,240 /2,080
11 dALREIXIE S 4,160 6,240 22,080
OXESAHA &S
20,0002 x2E*104& 4,160
SM N2 AIEERX 52,233 39,548 12,685
101 2I24H| 42,618 29,053 13,565
M IR NZZ2NS 42,618 29,053 13,565
OFx E5M =2 40,635




SH: CARBMSIEER QAT A
Y ZTZCAB 29
el SUCAH2A2Z (e &)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
(OpIE== 2,031,610« 18122 24,380
(@FSELE=Eala] 140,000 x1H* 123 1,680
O¥dA=Y 50,0003 x 1« 12& 600
ORIl 50,0003 x1Z 123 600
OYE IOt 609,480& *1H+23] 1,219
O 4| 74,7203« 1162 1,19
OsXIEQE 960,000 *1H 960
O&l&3 10,000,000&*1H 10,000
O4UEEZ JIARY2 1,983
OHLEE= 29,675,000 +3.495% 1,038
OIIRAEE S 1,038,000 *12.27% 128
Onssss 29,675,000&*1.75% 520
OMNEE = 29,675,000 * 1% 297
201 LBt2| 9,615 9,615
01 AtR22eltl 9,615 9,615
OR0IAY| AlAE 200, 0008+ 122} 2,400
oY - 247 Y2 30,0002 43CH 1224 1,080
CE=SIE-F-BIR-P =
45,0003 «3CH* 12 1,620
OFARA2IES 50,0003 *9&*33| 1,350
Ozt & HAEE
100,000 25+ 12& 2,400
od - 20| &4 16,5002 * 102 A 165
OMA=I| ARE 7 300,000 *2CH 600
I2EA2 29 357,491 315,617 41,874
NN NZ2ES 146,715 185,235 8,520
201 B2 AL| 21,275 22,3% A1,120
01 AtR2elt] 21,275 22,3% 21,120
o&FIIdE 7= 9,180
(OFSIN| 15,0003 * 18I At+12& 3,240
OXIX] 13,0002 * 150 Ab+ 122 2,340
OHERAIZ 30,0003 *105+12& 3,600
O2ehA SEMBIA et 0l8=
2,530,000& *13] 2,530
O0ta 7= 1,220%1*7,840% 9,565
206 =4l 7,840 9,840 A2,000
01 =l 7,840 9,840 A2,000
OENME2ES 7,840
ORFID TAG 5002 x7,8400H 3,920
OctdgXs 105 5003 *7,8400H4 3,920
405 KHHESH| 117,600 123,000 A5,400
02 SN 117,600 123,000 A5,400
O&AM 117,600




M E

M 2 2o
SRl RN 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oogete A 15,0002 »7,000& 105,000
OXge2tl =M 15,0002 +840& 12,600
2= A2 2REZ 8 29 52,370 49,330 3,040
201 fer= 3| 50,770 47,730 3,040
01 At 2t 3,500 4,000 A500
O=sN=TE 2,000 *750% 1,500
o=N2 EEE 2,000&+1,000% 2,000
03 #AI2 | 47,270 43,730 3,540
OSAEHEIZ IS 28,500
OLA=E
40,0003 <2A[ 2tx240 B+ 123] 23,040
OSHItE M= 70,0002 = 157K 1,050
Ozx=d &JI&8d¢ 500,000 <62 3,000
Oonzd 2ZE3 300,000 %53 1,500
OSAMS0tel 54 4,680
OsHE +g
40,0002 x2A| 2+x30H B+ 122 2,880
OEEE A7
15,0003 12510 1,800
OPIZEN=2NE 28
2,500,000 43 10,000
O A 2t==2F A 1,000,0002 %12 1,000
O=K2 & A 1,000,0002 %12 1,000
Oo=AzZ 2,000,000& %12 2,000
301 EtE N = 1,600 1,600
11 #AIMHIXIE S 1,600 1,600
O=2ZZ I A2 SAHA =&l
8,000& %10 »203] 1,600
=AM N=Z2EA 29 27,230 27,970 AT40
201 et 3| 4,280 4,020 260
01 At2t2l] 4,280 4,020 260
oZgd &E: 220,000 * 107K 2,200
O=ADI &Y 260,000 *4H 1,040
O=ALEX 21,0003 408 A 840
OFA=SNHAIOIE ctolaiA e
200,000 *1H 200
206 M=l 12,550 13,550 21,000
01 MHZHI 12,550 13,550 A1,000
Ool=3AS 5,200
Oousste 1,500 *2, 300K 3,450
Odteel= 80,0002 202 1,600
Osl==elH 10,0003 +152 150
OAIIE SHE 3,000 *100H 300




SH: CARBMSIEER QAT A
B ZRC NP 29
Rl iz AE 29 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OENE+-EH! 150,000 *102 1,500
OXtstELg )| =5
3,000 *3002 900
OXrZ &l AFQIAIAE 100, 000& 3074 3,000
OXtz 4 P2 XHH 650
OdllEAl 35,000& * 104 350
OII2E 15,0002 =104 150
ootA 15,0002 = 104 150
OZEHM BiHt 100, 0002 *2H 200
O 2| 40,0002 x20CH 800
301 LPBNZ 10,400 10,400
11 AU S 10,400 10,400
OXAS AR Es4ld|
20,0003 5 104 10,400
2= M2 AMEE2R X2t 131,176 83,082 48,094
101 2124l 105, 181 53,587 51,5%4
M IIRIMZ2 NS Es 105, 181 53,587 51,544
O ZEtE 24 97,902
olle=s 2,031,610 x3F+12& 73,138
OFAHZ AL 140,000 x3H » 12 5,040
O&dd=+4 50,0003 «3Z 123 1,800
Ol 50,0003 «3F 128 1,800
OYE IOt 609,480& *3F *23| 3,657
O=XIEQIE 960,000 *3H 2,880
OS2 4| 74,7203 +3H 162 3,587
O& &= 3,000,000 *2H 6,000
o4 B8 J|ARE= 7,279
o=n4a3 29,674,000 *4.5% 1,336
(OFar23ssk=: 1= 89,022,000 *3.495% 3,112
O&IIRAEE S 3,112,000 *12.27% 382
(@ME=1h=: 1= 89,022,000&*1.75% 1,558
OtNEEZ 89,022,000 * 1% 891
201 Let23| 25,99% 27,49% 21,500
01 AtR2elt] 25,99 27,49% A1,500
OR01EH| AIAE 300,000& 12 3,600
Od =2=2J| dxtz
45,0003 «5CH* 123 2,700
O3J18380] dit=
50,0002 x9CH = 12& 5,400
odldl Xtz 25,0002 +8CH+12& 2,400
OFN&2IES 50,0003 *8E+23| 800
O3ty & HAES
100,000 8+ 122 9,600




2A:

XXH.- 2
o= oo

gel: Ot (Sl & J)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2

od =2=J| s5& 16,500 *308f A 495
(OFSFn i E=3 50,000 *4 Z*23] 400
OMA=I| ABE 7 300,000 *2CH 600

HYE AU (TAALMSISER QEENE) 1,945,264 1,925,708 19,556
= 158,704
= 79,352
Al 1,707,208

ol A 1,551,240 1,556,987 Ab 747
s 158,704
= 79,352
Al 1,313,184

o1l 923,579 1,079,424 A155,845

101 21244l 830,933 952,669 A121,736

03 SRA(RINHL) 222+ 830,933 952,669 A121,736
OAMA SRE Bx(LIZ 1558) 45,301
OpIE== 2,776,880@ x 1B+ 12& 33,323
oz2s=¢ 138,840 x1H* 122 1,667
O¥dA=Y 50,0003 x 18« 12& 600
Oz 194, 7002 x1H 123 2,337
OFAZ A 140,0002 * 1Y * 122 1,680
OEARE 50,0002 * 18« 123 600
o= 20,0003 x 1« 12& 240
O E St 1,388,440& 18 +23| 2,777
OHIE 4| 103,840 120 2,077
OXzA2E S22 B (U= 888) 632,259
(OpIE== 2,345, 2402 % 16H 12 450,287
o254 117,260 x 16+ 122 22,514
O 50,0002 x16H * 123 9,600
OxunZ=4 166,8002 x 162123 32,026
O&EH¥Z Al 140,0002 x 16123 26,880
O 50,000& 16 122 9,600
OJEs=e 80,000 *16Z*12& 15,360
OZEEFOHI 1,172,6203*16F*23| 37,524
OHIHE 4| 88,960 * 1620 28,468
OFA B2 B4(LI2 638) 153,373
OJl2= 2,267,460 »4B 123 108,839
o2& 113,370 x4 H 123 5,442
O&eise 50,0003 x4H 123 2,400
Ox=222Y 161,700 x4 H =123 7,762
OZAHZ Al 140,000 x4 H 12 6,720
OExARE 50,0003 x4« 12& 2,400
OJEsY 80,0003 x4F 123 3,840
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SH: CARBMSIEER QAT A
M HHSHAH|(CHBBMSEES QBT AR
s lIEE2ghl EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 21,2%
Al 112,291
101 2124 d| 158,469 16,637 141,832
= 42,592
T 21,296
Al 9,581
03 SRA(RINHL) 22X E > 158,469 16,637 141,832
O222221 B4(03 952) 158,469
OPIr== 2,383,202 x4H +12& 114,429
= 42,592
T 21,296
Al 50,541
o2ssY 119, 1902 x4H 128 5,722
(OFSe-E= 50,0003 x4« 12& 2,400
Oxzu=22=4 169,200 4B 122 8,122
O&FWUZ A 140,000& x4 F 122 6,720
OS=&2 50,0002 x4B+12& 2,400
@) ==t 40,0003 #4H = 12& 1,920
O E St 1,191,960 4 Z +23 9,536
OdItE 4| 90,2403 *4F 20 7,220
M HAIREIS 17,710 1,828 15,882
04 SR (RIIAHY) 22X 2EERES S 17,710 442 17,268
O33R A28 s J|IARE2 17,710
o=gaz 158,469,000 *4 . 5% 7,132
(OFar k= 1= 158,469,000 *3.495% 5,539
OIIRAEE = 5,539,000& *12.27% 680
(@NVE=3=t=: 1= 158,469,000 *1.75% 2,774
OtNEE = 158,469,000 * 1% 1,585
SESTAHE JHZAIZE HERH(EY) 186, 146 184,574 1,572
= 46,464
= 23,232
Al 116,450
101 21| 167,434 163,117 4,317
= 46,464
& 23,232
Al 97,738
03 SRA(RINHL) 222+ 167,434 163,117 4,317
O3RIZ2ZX Ex(02 12588) 167,434
OPII== 2,500,750 x4H + 12& 120,036
= 46,464
T 23,232
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2,345, 240%1* 1%+ 122
40,0002 %12+ 128
16, 68021x124x30A] 2+ 122
117, 260212 122
50,0002 * 124 * 128
50,00021* 124 * 128
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SH: CARBMSISES BASS
M HERHIH(SHNZEMSIS2E HMEER)
el QIEE2E ESR=ED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
O/INQLYEEZ 1,527,000 *12.27% 188
OnsE:sez 43,675,000&*1.75% 765
OttNEE = 43,675,000 * 1% 437
JlE2&H| 197,498 188,471 9,027
J123&H| 197,498 188,471 9,027
201 B2 AL| 170,098 160,271 9,827
01 ArR22ltl 59,640 55,173 4,467
o2 R=A| 500,000& =17 8,500
SHIOIEZH])
8,000& x19Z 8L« 122 14,592
OHEAZZ II=H| 1,280
Oo=2=(28) 240,000& x2H 480
Ooger= S 38 400,000& x2H 800
OtlZz7=sE 900
Oz 15,000& 10 x 122 180
OXI& X 15,000 »40x 123 720
oY - 2| Xtz 9,756
o2 50,0002 *10CH*12& 6,000
Oalgd=za 57,0003 «2CH* 123 1,368
ON3Z2t 53,0002 *3CH*12& 1,908
OU=EystsHH
40,0002+ 1CH* 128 480
odltl gxtz 6,048
o=z 24,0002 110+ 123 3,168
Oagd=a 24,0003 =4CH+12& 1,152
ON3Z2 24,0003 ~6CH+ 128 1,728
O3J1¥EI| Xtz 17,304
o=z 53,0002 200+ 122 12,720
Oag=a 41,0002 +5CH*12& 2,460
ON3Z2 59,0002 *3CH*12& 2,124
ORdYs 082 1,260
O=22, N, gz
35,0002 *3CH*12& 1,260
02 32| 110,458 105,098 5,360
oORERI 1,800
Oget 4003 x250S* 12 1,200
O3l 2,5003 20+ 128 600
onste3a 30,0002 x 128 360
O=Z2FUE 2= 100,000 *3CH* 12 3,600
oFIIL2 63,598
OJlzea(=a) 6, 3702 x200KW= 123 15,288
ONEHRI(E2)
100&* 17, 260KW= 12 20,712




SH: CARBMSISES BASS
B WESAAH|(CHREMSEES BASAR)
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SPEFECEETY
6, 3703 x30KW 123 2,294
OASeas(dez)
10024+2, 088K 1224 2,506
OJlzes(HeE)
86,3703 * 140K+ 12 10,702
OABZRI (A=)
100& * 10, 080KW= 12 12,096
Odot=R= 12,720
o= 1,000,000& ~12& 12,000
Oodg=a 30,0002 12 360
OkN=z2 30,000& ~12& 360
OIHHAR=3 20,340
oz 1,205,000 128 14,460
odg=a 50,000 * 122 600
Okg=z2 60,0002~ 12 720
O3320ILt0l ArE=
40,0003 #2CH+ 123 960
Ooelgat 2FJ1 totel
50,000 +6LH* 122 3,600
ONESLELD(22 MY HASD)
1,700,000& %12 1,700
OAEEBIS X 1,440
OHEARINI FAl2e 1,440
AP 3,500, 0002 *1CH*8% 280
&= AR 4,500,000 = 1CH*8% 360
&A= AR 5,000, 0002 *2CH*8% 800
OXtHLH|(58) 4,900,000 *1CH 4,900
202 04| 20,400 21,600 1,200
01 2L A LI 20,400 21,600 1,200
OJI=&H| 20,0003 x17H 52« 128 20,400
203 gF=4| 3,600 3,600
M EASHLRFAH 3,600 3,600
OJ1Z% (202! 013t) 300,000 * 122 3,600
405 AHatE = 3,400 3,000 400
01 ML ESF SHI 3,400 3,000 400
o014 N 200,000&4*17H 3,400




